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PART 2 An inventory of reflexive and reciprocal strategies
2.1 Coreference in a single clause

2.1.1 Primary reflexive strategy

A- Pronoun-méfwo strategy

Alai) Jean nadma dig naméfwao
Jean na-ama dig na-méfwo
Jean SM-PST2 see PRN.3rd.sg-REFL
“John saw himself.”
Comment: With the verb ‘to see’ held constant in (A1), one can only have the unique reflexive
reading as illustrate above.

2.1.2 Different reflexive strategy
B- Pronoun-mé strategy

Alaii) Jean ndma dig namé
Jean na-ama dig na-mé

Jean SM-PST2 see PRN.3rd.sg-REFL

“John saw himself.”
Comment: There is another slightly different possibility in to express (A1) with the verb ‘see’
held constant. This strategy consists of attaching the pronoun to the altered form of the REFL
whereby the particle ‘fwd’ is left out. It is worth mentioning that truncating the REFL does not
affect in any way the meaning of the sentence.

2.1.3 In Makaa, some verbs of grooming such as ‘wash’ and ‘shave’ can either use the ‘Pronoun-
méfwd’ or the ‘Pronoun-mé’ strategiesto mark coreference or use a third strategy viz: ‘Object-
Null strategy’.

%+ Pronoun-méfwo strategy

A2ai) Jean nga gusa naméfwo
Jean nga gusa na-méfwao
Jean PROG wash PRN.3rd.sg-REFL
John washes himself OR John is washing himself

Comment: Sentence (A2ai) can have a double interpretation in Makaa. It can be understood as:
1) John washes himself or 2) John washes himself and he is alone (with no one around him).
Only the context permits to render the exact meaning.
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%+ Pronoun-mé strategy

A2aii) Jean nga gusa namé
Jean nga gusa na-mé
Jean PROG wash PRN.3rd.sg-REFL
John washes himself OR John is washing himself.

C- Object-Null strategy

A2aiii) Jean nga gusa
Jean nga glusa
Jean PROG wash.REFL
John washes himself OR John is bathing.

D- Body reflexive strategy (always with the noun ndl ‘body”)

A2aiv) Jean nga gusa nal
Jean nga gusa nil
Jean PROG wash body.REFL
John washes himself.
Comment: To avoid ambiguity of (A2ai), the speakers mostly use sentence (A2aiv) whereby ndl
semantically refers to Jean. For data entry: make sure any sentence references match IDs in the
database once these sentences are entered. I connected this one.

b) Marie m3 bdw
Marie m3 bdw
Marie PST1cut
Mary has cut herself. [accidentally]

¢) Jean nga gwag fwbn
Jean nga gwag [wén
Jean PROG hear shame
John is ashamed of himself.

d) Jean ma gu nal
Jean ma gu pal
Jean PST1 kill body.REFL
John has destroyed himself.
KS: Does this mean committed suicide? Supposed what he destroyed was understood to be his
political career or reputation — would you use na-méfwao?
NI: No it does not mean committed suicide. gu ndl has to do with acts one commits and that
affect his well being, his career...Yes, it can be replaced by na-méfwaé. To express the meaning
commited suicide, the sentence has to be written as below. na-méfwo renders the sentence odd.
di) Jean ma gwilja nal



Jean m3 gwil-ja nal

Jean PST1 kill-RFM body.REFL

John has killed himself.
To express the meaning commited suicide, the sentence has to be written as in di. na-méfwé
renders the sentence odd.

e) Sam fim sdméfwo
S5-m'fim s3-méfwo
we-COP hate PRN.1.pl-REFL
We hate ourselves.

f) Bw3 nga faag bwaméfwo
Bwa nga faag bwa-méfwao
they PROG praise PRN.3rd.pl-REFL
They are praising themselves

2.1.4 Obliques and other argument types
E- Verb-ja strategy

A3ai)Jean ndma sija filu
Jean na-ama sa-ja filu
Jean SM-PST2 do-RFM.CAUS hair
John got his hair styled OR John caused someone to style his hair.
Comment: In general, the morpheme —al suffixed to the root of a verb marks causative, see
A3aii. However, in A3ai, the causative meaning is expressed by the inherent meaning of the verb
phrase sija filu ‘to cause someone style one’s hair’.
aii) Jean ma gwilja
Jean m3 ga-al-ja
Jean PST1 die-CAUS-RFM
John has killed himself or caused himself to die
Comment: It can be noticed in A3ai and aii that the suffixation of the RFM ja to the verb triggers
some changes such as the raising or shifting of the verb root vowel and/or the labio-velarization
of the verb onset (see A3aii).

Not for database entry

Comment: KS: It is apparent that there is at least a lot of morphological overlap with ja where it
contributes a reciprocal interpretation. In the latter case, it would normally be glossed RCM, but
if it is indeed the same affix that is interpreted as either reciprocal or reflexive according to
context (or something in between — for another time), then we may want it to have the same
gloss everywhere. Until it is clear what is best, | will let it stand as RFM or RCM according to

For the purpose of this questionnaire, it is a difficult task to identify the role played by the morpheme -m- in Makaa
grammar. It looks like the split form of PST1 m3. However, in A2e it seems to express present tense. On the other
hand, if the sentence is writtenS3 m3 fim sdméfwd, it will mean something like ‘we started hating ourselves’ some
while ago. Further studies being therefore required to say what the function of this morpheme is, I will gloss it as ‘xx’
all through this questionnaire.



your glosses, but probably that will change eventually.

NI: The marker ja in A3aii, really can’t be glossed RCM. To have the reciprocal interpretation
with the verb gi ‘to kill’ held constant, the verb has to occur in a different form, e.g:bwa ma
guja and not gwilja ‘They killed each other’. An explanation | have for this is that Makaa counts
several ‘homomorphs’, they are written alike but their meaning differs in context. Reason why
the Verb-ja strategy is listed both under Reflexive and reciprocal constructions. Another
observation made is that, it is the inherent meaning of a given verb that determines the
meaning of the morpheme -ja appended to it. In other words, the morph —jgappended to a
given verb will have a reflexive or reciprocal reading depending on whether or not the verb to
which it is attached accepts a reflexive or reciprocal interpretation.

F- Noun (Object) + Possessive strategy

Comment: This is a pronominal strategy taking into consideration the fact that ‘his’ as in ‘his car’
is considered a possessive pronoun in English whereas in French it is a ‘a possessive adjective’.
It should be treated differently from other pronominal strategies in Makaa since it involves a
different class of pronoun.

b) Jean: ndma tén tfig dzjé:
Jean na-ama tén tfig dzj-€
Jean SM-PST2 tell ~ ¢7.life ¢7-POSS.3".sg
John spoke about his life. (subject/PP argument)
Comment: In A3b, the ¢7-POSS.3".sgdzjéis coreferent with Jean. The ¢7 agrees with the head
noun and 3rd.sg with ‘Jean’?. Both forms change depending on the head noun nominal class and
the person of the subject (See 2.2.2.11

¢) Jean: ndma tén Marie: tfig d3jéi

Jean na-ama tén Marie tfig dzj-€

Jean SM-PST2 narrate Marie c¢7.life ¢7-Poss.3".sg

John told Marie about himself. (same, with intervening NP)
Comment: In A3c, the ¢7-POSS.3rd.sgd3jécan be coreferent eitherwith Jean or with Marie. The
sentence is ambiguous and can mean that ‘John told Mary about himself” or that ‘John narrated
Mary’s life story to a third party’. This construction needs to be in context for the ambiguity to be
neutralized.

di) Bill ndma tén sdi tfig dgisui
Bill na-ama tén sa tfig azi-su
Bill SM-PST2 narrate PRN.1PLEXCL c¢7.life ¢7-POSS.1PL.LEXCL
Bill told us about ourselves. (object/argument)
Comment: In A3di, the ¢7-POSS.1PL.LEXCL d3isu is coreferent with s3 Bill excluded.

dii) Bill: ndma tén [jé; tfig i-fjéi
Bill na-ama tén Jjé tfig i-fjé
Bill SM-PST2 narrate PRN.1%.pLINCL c7.life c7-POSS.13.pl. INCL
Bill told us about ourselves. (object/argument)
Comment: In A3dii, the ¢7-POSS.1st.pl.LINCL /i-fjé is coreferent with fjé, the inclusive reading can
include Bill.



e) Maria ndma jo bwén; bwdméfwo;

Maria na-dma ja bwdn bwa-méfwao

Mary SM-PST?2 give children PRN.3" pl-REFL

Mary gave the children to themselves. (ind.object/object)
KS: Is this example OK with bwa-mé? NI: Yes it is.

Pronoun-di strategy — A subcase of the independent pronoun strategy
Comment: Sentence A3f shows the use of a personal pronoun associated with the locative
markerdito obtain a prominent pronoun that is coconstrued with the subject of the sentence.In the
sentence ‘Wama dig Jean? Mbo, ma nga ka padi padi ‘Did you see Jean? I am going to his
place’, nadi refers to Jean. Yes in (f), padi could refer to someone else in the discourse, e.g: Jean
nama tfi nd Maria pama dig kalad padi mpisa. John said that Marie saw a book behind
him/her’.;3di in the last sentence refers either to John or Marie depending on the speakers
intention.
f) Maria ndma dig kdlad nddi mpisa

Maria na-ama dig kdlad na-di mpisa

Mary SM-PST2 see book PRN.3™.sg-LOC behind

Mary saw a book behind her (or behind s.o. else if mentioned earlier). (subject/locative)

Preposition /il (for) + Pronoun — A subcase of the independent pronoun strategy.

Comment: d¢ in (gi) refers solely to John. But in a discourse where someone else was mentioned
as a potential benefactive, it could also refer to him. In this special example it is bound locally.
(see 2.2.2.10 for complete paradigm).

gi) Jean ndma kusa kdlad ful dé
Jean na-ama kisa kadlad ful dé
Jean SM-PST2 buy book for PRN.PREP.OBJ.3rd.sg.
John bought a book for himself. (benefactive)

gii) Jean ndma kusa kdlad ful naméfwao
Jean na-ama kusa kdlad ful na-méfwo
Jean SM-PST2 buy book for PRN.3rd.sg-REFL
John bought a book for himself. (benefactive)

giii) Jean ndma kusa kdlad ful dé namé
Jean na-ama kisa kdlad ful dé na-mé
Jean SM-PST2 buy book for PRN.PREP.OBJ.3™.sg PRN.3" sg-REFL
John bought a book for himself only. (benefactive)

h) Jean ndma gwag mpimba na né.
Jean na-amagwag mpimba na né
Jean SM-PST2 hear angriness with PRN.3sg
John got angry with her/him.



Ada) Etta ma tfjel naméfwo
Etta ma tfjel na-méfwo
Etta COP like PRN.3rd.sg-REFL
Etta likes herself.

bi) Etta ma sagja
Etta ma sagja
Etta PST1 scare oneself
Etta has scared herself.
KS: Might the verb be actually sag-ja? In which case the gloss would be scare-RFM.
NI:Not really because sag- means nothing in Makaa. —ja definitely is the RFM. It has fused with
the fossilized verbal root sag- to form the monomorphemic verbal root sagja which indirectly
expressesreflexivity. The infinitive form is sagjdla ‘to scare oneself’.

bii) Etta ma gwag ifwas
Etta ma gwag ifwas
Etta PST1listen/hearC8-fear
Etta has scared herself.

biii) Etta ma bii ifwas
Etta ma biii-fwas
Etta PST1 holdC8-fear
Etta has scared herself.
For data entry, make sure the numbers for bi-iii refer to each other by ID in the database

¢) Maria nga ntagtla
Maria nga ntdgta-ja
Mary PROG worry-RFM
Etta worries herself.

2.1.5 Person and number
Makaa does not use strategies different from those I have listed in the preceding sections,
which depend on person and number.

AS5a) Madma dig méméfwo
Ma-dma dig ma-méfwo
PRN.1%.sg-PST2s ee PRN.1%.sg-REFL
I saw myself.

b) Wadma béw
Wa-dma béw
PRN.2nd.sg-PST2 cut
You cut yourself [accidentally].

¢) [wéé k3 gusa



Jwé-é ka gusa

PRN.1st.Pl.dual-FUT1go bath

We will go bathe ourselves.

d) Kwindjdgd biméfwoé

Kwind-jg-ga bi-méfwo

Help.someone-RCM-IMP.2" pl PRN.2™ pl-REFL

Help each other!
COMMENT: In Makaa, there is a difference between the verbs kwid ‘to help’and kwind ‘to help
someone’. In (A5d) —jd is not the RFM but the RCM. As | earlier stated, depending on the
inherent meaning of the verb, -ja can be either be RFM or RCM. In Makaa, —gd marks
imperative plural only.
KS: If —jd is reciprocal here, why is the translation reflexive? Could this example also mean ‘Help
each other!” if PRN-REFL were not present? Also, why is the tone on the marker high in this
context? | want to be sure this is not the passive morpheme.
NI: I have corrected the gloss, you are right. Without the PRN-REFL, A5d is grammatical and has
the same meaning as the verb kwiind is inherently reciprocal. The tone of the marker is high in
this context due to the addition of the imperative marker. The same tonal change is noted when the
imperative marker is added to low tone stems in Makaa. do ‘eat’— ddg (IMP.Sg)/ddga (IMP.sg).
No it has nothing to do with the passive.

2.1.6 Strategies for other clausemate environments

Based on my linguistic skills, I cannot remember that there is any additional reflexive strategy |
have not mentioned in the preceding sections. However, for comparative purposes [ will just
translate the sentences in (A6).

A6a) Jean md mpu naméfwao
Jean ma mpu na-méfwao
Jean PST know PRN.3rd.sg-REFL
Peter knows himself.

b) Mital ma di dsum naméfwao
Mital ma di-dgum na-méfwo
Mital PST HAB-criticize/blame PRN.3rd.sg-REFL
Mital habitualy criticizes/blame himself

c) Mital m3 tfjel dila faag ndméfwo

Mital m3 el di-la faag N3-méfwo

Mital PST like HAB-INF praise PRN.3rd.sg-REFL

Mital usually likes to praise himself.
Comment: The marker m3 gives me food for thought in Makaa. I have glossed it as PST for now,
while waiting for a further thorough analysis of constructions with ma.
Comment: /2 is the infinitive marker used as a derivational morpheme to obtain new verbs from
existing verbs. I have preferred to change the verb because semantically, fadg means to praise,
and fddgias means to praise someone by offering him money.

(b) In the Makaa language, quantificational constructions do not involve any separate strategy



different from the ones discussed earlier before.

AT7a) Mwd-mudam jéf nad nga dig ndzi naméfwao
Mwan-mudam j-&f na-a nga ditg ndzina-méfwo
Child-man  cl1-QUANT SM.3rd.sg-PST3 PROG see only PRN.3rd.sg-REFL
Every boy looked at himself.

b) Buda béf bwddma dzaw bwaméfwo ndaa Jean dis3 ji
Buda b-éf bwd-dma  dgaw bwa-méfwd ndaa Jean disaji
Woman ¢2-QUANT SM.3rd.PI-PST2 tell PRN.3" pl-REFL as Jean COP REL
All the women described John to themselves.

c) Jigili j€f nadma Iwdja Bob niil
jigili j-€f na-ama Iwé-ja Bob nil
teacher c1-QUANT SM.3rd.sg-PST2 show-RFM Bob body.REFL
Every teacher introduced himself to Bob.

KS: Does this example need both ja and il to have this meaning successfully? Is this possible
with pa-méfwa in place of niil? If it is possible, is there a difference in meaning? NI: Yes, ja and
il are both needed for the meaning to be successful. Yes it is possible to have piil replaced by
na-méfwd Alc, but with a slight change in the structure of the sentence as in A7ci. A7ci is uttered

in a context where someone failed to introduce teachers to Bob, so each of the teachers
introduced himself then to Bob.

ci) Jigili j€f ndma Iwdja na-méfwoé wo Bob
jigil j-€f na-ama Iwé-ja wo Bobniil
teacher c1-QUANT SM.3rd.sg-PST2show-RFM Prep Bob
Every teacher introduced himself to Bob.

d) B3l bwdn bwddma nga kwind ndsi bwdmé
B3l bwdn bwi-dma nga kwind ndzsi  bwa-mé

some children SM-PST2 PROG help.someone only PRN.3rd.pl-REFL
Some children were helping only themselves.

Comment: The verb kwind means to ‘help someone’ so the addition of nd3i bwamé provides the
exclusive meaning.

(c) Makaa has no system of grammaticized honorifics.
(d) Examples in A9 reveal no new strategy.

A9a) Sol nga tfi nd Alice ma tfjel namé
Sol nga tfi nd Alice ma tfjel na-mé
Sol PROG say that Alice PST1 love PRN.3rd.sg-REFL
Sol says that Alice loves herself.



b) Sol m3 f[ila na Alice fadgig namé
Sol mafila na Alicefaag-ig na-mé
Sol PST1 ask that Alice praise-HORT PRN.3rd.sg-REFL
Sol have required that Alice praise herself.
¢) Sol nga tadaga na Alice ma d3ald na faag namé
Sol nga tadaga na Alice ma dzald nafaag na-mé
Sol PROG think that Alice PST1 COP PREP praise PRN.3rd.sg-REFL
Sol thinks that Alice should praise herself.

d) Sol nama fila Alice nd a fadgig namé
Sol na-ama f[ila Alice nd a faag-ig na-mé
Sol SM-PST2 ask Alice that PRN.3rd.sg praise-HORT PRN.3rd.sg-REFL
Sol asked Alice to praise herself.

e) Sol ma tfjel faag namé
Sol ma tfjel faagna-mé
Sol PST1 like praise PRN.3rd.sg-REFL
Sol likes praising herself.

f) Sol nga Elbwdnd na Alice fadgig namé
Sol nga bwdnd naAlice faag-ig na-mé
Sol PROG wait that Alice praise-HORT PRN.3rd.sg-REFL
Sol expects Alice to praise herself.

g) Sol nadma gwag Alice nga faag namé
Sol na-ama gwag Alice nga faag na-mé
Sol SM-PST2 hear Alice PROG praise PRN.3rd.sg-REFL
Sol heard Alice praising herself.

Comment: In Makaa there are two pronouns glossed as ‘he’ or ‘she’ viz;naanda. nais the citation
form and appears in front of vowel-initial elements while a context of occurrence is restricted to
constructions whereby the immediate element that follows the subject position is consonant-
initial.
2.2 Ordinary (potentially independent) pronouns
2.2.1 Independent use of pronouns
A10a) Madma Iéfa na Abraham nakugu.Nadma dig Lela.

Ma-dma lds-ja na Abraham naktgu. na-dma dig Lela.

PRN.1%.sg-PST2 talk-RCM with Abraham yesterday.PRN.3.sg-PST2 seeLela

I spoke with Abraham yesterday. He saw Lela.

b) Abraham d3i ngaw? Madma dig n3 fifjEmikus.
Abrahamd3i ngaw ma-dma dig na fifjE-mikus.



Abraham COP wherePRN.1%.sg-PST2 see PRN.3" sgyard-sales
Where is Abraham? I saw him in the market.

ci) Sadma dig bi. Jo bjo bdn [i dig s3?
S5-dma dig bi. Ja bi-o bdn [i digsé
PRN.1%.pl-PST2 seePRN.2".plINT.PRN PRN.2" p]-FOC PRN.DEM.2" pl EVID see PRN. 1% pl
We saw you (P1). Did you(Pl) see us indeed?

cii) Sadma dig wa. Jo wee ne [i dig s37?
Sé-dmadig wa. o wa-€ JIE Ji dig sd
PRN.1%.pl-PST?2 see PRN.2" sgINT.PRNPRN.2" sg-PRN.EMPH PRN.3".sg EVID?see PRN.1% pl
We saw you. Did you see us indeed?

2.2.2 Various types of pronouns

2.2.2.1 Simple human subject pronouns

Person Pronoun
1Sg ma

2Sg wa

3Sg na/a
1PLEXCL s3
1PLINCL Jé
1Pl.du fwé

2Pl bi

3P1 bw3a

A10ciii)Ma bd Iéfa na Abraham mdn.
Ma bdlds-ja na Abrahamman.
PRN.1%.sgFUT2 talk-RCM with Abraham tomorrow
I will speak withAbraham tomorrow.

2.2.2.2 Non-human subject pronouns

Noun | Noun | Example Gloss Pronoun
Class | Prefix
1 mu- mu-ud person -
la - d-kdm monkey i
N- n-dsé6n stranger -
2 bu- bu-ud people -
2a 0- 0-kdm monkeys | -
0-ds6n strangers | -

2 EVID stands for evidential marker
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3 L- L-IGm heart i
4 mi- mi-lém hearts mi
4s mi-jowda breathing | mi
5 - d-luan hole 1
Sa d- d-and home i
village
a3- dz-wéw day i
6 ma- ma-laan holes ma
6a m- m-3nd home ma
villages
m-wéw days ma
6s ma-ntand saliva ma
7 L- L-kd leaf i
L-bum3d (one) seed | /
8 - I-ka leaves i
I-bum3 seeds i
8s I-bowu vegetables |/
species
9 - a-fa machete i
10 N- m-piuma seed i
10s m-pwadjé mud i

Comment: The noun classes and their prefixes listed in the table above are adapted from Heath
(2003:338). To differentiate simple noun classes from subclasses and singles noun classes, the
former are written as X, the subclasses as Xa and the single classes as Xs. (X standing for
numbers).

A10civ) Mildm mis3l mp#f.
Mi-lagm mi-sa mp#-/.
c4-heart SM.c4-COP.PRS pot-LOC
The hearts are in the pot.

AlOcv) mi @ mp#-f
PRN.c4 PRS pot-LOC
They are in the pot.

2.2.2.3 Compound human subject pronouns

Singular Pronoun Plural Pronoun

1Sg +3Sg sand 1P1+ 3PI 53n0

2Sg + 3Sg bind 2P1+ 3Pl bino

3Sg + 3Sg banad 3P1+ 3Pl bwand/ bano
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A10cvi) S3nd séé léfa man.
S4-na-a s3-é lds-ja  man.
PRN. 1% pl-with-PRN.3.sg SM-FUT]1 talk-RCM tomorrow
We (I and he) will talk tomorrow.

2.2.2.4 Human object pronouns

Person Pronoun
1Sg ma

2Sg wa

3Sg na
1PL.LEXCL s3
1PLINCL fé
1Pl.du JZ)

2P1. br

3P1 bwa

Al0cvii) Méé Iéfa na wa man.
Ma-é lds-ja na wa mdn.
PRN.1%.sg-FUT1 talk-RCM with PRN.2".sg tomorrow
I will talk to you tomorrow.

2.2.2.5 Non-human object pronouns

Noun class Pronoun
na
bwa
wa
mja
dwa
nwa
gwa
bja
nwa
0 nwa

— (O | [QI| N[N |||~

A10cviii) Jean padma kusd ékawo. A ngé wiil bwa nd ifwdn.
Jean na-dma kusa 6-kuwo. a ngé wiil bwa na i-fwdn
Jean SM-PST2 buy c2-fowl. PRN.3".sg PROG feed PRN.OBJ.c2 with c8-corn
Jean bought fowls. He is feeding them with corn.

2.2.2.6 Human reflexive pronouns

| Person | 1% form | 20 form |
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1Sg ma-méfwo ma-mé
2Sg wa-méfwo wa-mé
3Sg na-méfwo na-mé
IPLEXCL $s3-méfwo sa-mé
1PLINCL Jé-méfwo Jé-mé
1Pl.du Jwa-méfwo Jwa-mé
2PI. bi-méfwo bi-mé
3PI bwa-méfwo bwa-mé

A10cixa) M3 fim ma-méfwo.
M3 fim ma-méfwo.
PRN.1%.sg hate.PRS PRN.1%.sg-REFL
I hate myself.

cvixb) M3 fim ma-mé.
M3 fim ma-mé.
PRN.1%.sg hate.PRS PRN.I1%.sg-REFL
I hate myself.

2.2.2.7 Non-human reflexive pronouns

Noun class | 1% form 24 form
1 N3-méfwo né-mé

2 bwa-méfwo bwa-mé
3 wa-méfwo wa-mé
4 mj3-méfwo mj3-mé
5 dwa-méfwo dwa-mé
6 nwa-méfwo nwa-mé
7 gwa-méfwo gwa-mé
8 bj3-méfwo bja-mé
9 Nwa-méfwo | nwa-mé
10 NWa-méfwo | nwa-mé

A10cx) Mifinga mi nga dzdal mjsméfwo.
Mi-finga mi nga dzdal mja-méfwé.
C4-cat SM PROG lick PRN.c4-REFL
Cats are licking themselves.

2.2.2.8 Subject markers

Person marker
1Sg ma
2Sg wa
3Sg na/a
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IPLEXCL | s3
IPLINCL | fé

1PL.du fwé
2Pl bi
3P1 bwa

A10cxi) Ma mad mpujé dsamb.
Ma ma-a mpu-€ dzamb
PRN.1%sg  SM.1%.sg-NEG know-NEG  witchcraft.
I have nothing to do with witchcratft.

2.2.2.9 Object markers

Person marker
1Sg ma
2Sg wa
3Sg €

A10cxii) Marie nadma jeé kuma.
Marie na-ama ja-€ kima
Marie SM.3".sg-PST2 give-OM.3".sg cassava
Marie gave cassava to her.

2.2.2.10 Preposition object pronouns

Person marker
1Sg din
2Sg dwd
3Sg dé/né’

IPLEXCL | agisti
IPLINCL | sifé

1PLdu dsufws
2Pl dsin
3Pl ddn

Al10cxiiia) Madma kusa fildwa ful dwa.
Ma-dma kusa fildwa ful dwa
PRN.1%.sg-PST2 buy flower/rose for PRN.PREP.OBJ.2".sg
I bought a rose for you.

cxiiib) Madma Iéfa na né
Ma-dma lds-ja na né
PRN.1%,sg-PST2 talk-RCM with  PRN.PREP.OBJ.3" sg

3 With the preposition né held constant, the preposition object pronouns are similar to the object pronouns in 2.2.2.4
except that for the 3Sg.PRN form, there are two possibilities, namely, n3 and né.
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I had a talk with him.

2.2.2.11 The possessive determiner (pronoun)

Noun class | 1Sg 2Sg 3Sg 1PLEXCL | 1PLINCL | 2PL 3P1
-3n -39 -€ -su -3 -in -an
1 w-in | w-33 j-€ wu-su i-f3 w-in w-dn
2 b-3n bw-35 | b-€ bi-su 0-f3 b-in b-dn
3 w-in | w-33 j-€ wu-su i-f3 w-un w-dn
4 mj-3n | mj-33 mj-€ mi-su mi-f3 m-in mj-dn
5 d-3n dw-33 | d-é di-su i-f3 d-in d-dn
6 m-3n | mw-33 | m-€ mi-su ma-f3 min m-dn
7 a3-dn | gw-35 | d3-€ azi-su i-f3 -in dz-dn
8 bj-on | bj-33 bj-€ bi-su i-f3 b-in bj-dan
9 n-an | pw-33 | p-€ ni-su i-f3 n-in n-an
10 n-sn | pw-33 | n-€ ni-su i-f3 n-in n-dan

A10cxiva) Marie pnadma ja bwa isd bjdn.
Marie na-ama ja bwa; i-sd bj-an;
Marie PRN.3rd.sg-PST2 give PRN.OBJ.3rd.pl ¢8-thing c¢8-POSS.PRN
Marie gave their things to them.

cxivb) Marie nadma ja bwa;bjdn,.

Marie na-ama ja bwa bj-dn

Marie PRN.3rd.sg-PST2 give PRN.OBJ.3rd.pl ¢8-POSS.PRN

Marie gave them theirs (things).
Comment: As a generalization, possessives in Makaa occur within noun phrases and function as
anaphoric determiners (A10li). In the discourse however, there exist constructions whereby the
head noun of the NP is left out and only the possessive surfaces as a pronoun that is coconstrued
with a preceding element (see A10lii).

cxvb) bwdn ba I5n okalad bdn

bu-dn b-d nga I5n o-kdlad b-dn

c2-child c2.AGR-P3  PROG read c2-book c2-POSS-PRN

The boys read their books
KS: Does AGR.POSS allow for both group and distributed reflexive readings? For example ‘The
boys read their books” could mean that each boy read the books he had or it could mean the boys
had all read the books that belong to them as a group? The sentence could mean that each boy
read the books he had or the boys had all read the books that belong to them as a group.

2.2.2.12 Emphatic personal pronouns

Person 1%t from | More emph.1% form | 2" form | More emph.2™ form
1Sg me-¢ me-g-ne-€ -
2Sg WE-€ WE-E-NE-E -
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3Sg NE-€ - - -

IPLEXCL sa-bdn s3-bdn-e-ne-¢ $3-0-bdn | s3-0-bdn-€-ne-€
1PLINCL f3-bdn [3-bdn-é-ne-€ [3-6-bdn [3-6-bdn--ne-€
IPLDUAL | fwa-bdn | [wa-bdn-é-ne-¢ Jwa-6-bdn | [wa-6-bdn-é-ne-€
2P1. bi-badn bi-bdn-£-ne-€ bi-6-bdn bi-6-bdn-€-ne-€
3PI bwa-bdn | bwa-bdn-e-ne-€ - -

cxva) Meg madma kusa fildwa [ul dwa.
Ma-¢ ma-dma kusa fildwa [ul dwa

PRN.1%.sg-EMP.PRN SM-PST2  buy flower/rose for PRN.OBJ.2" sg
I(as I am concerned) bought a rose for you.

cxvb) $3-0-bdn sdd mpujé
$3-0-bdn sa-d mpu-€
PRN.15.pl.LEXCL-FOC-PRN.EMP SM-NEG know.PRS-NEG
We (as we are concerned and not any other group) don’t know.

2.2.3 As far as [ am concerned, I cannot remember constructions in Makaa whereby null
arguments are accepted.

A10d) *Da fa
Ate fish.
(meaning he/she/they/it/we/you/l ate fish)
Comment: This sentence would be acceptable if it had a subject marker.

e) Hal nadma nifa
Hal pa-ama pnifa
Hal SM-PST2 hit
Hal hit (meaning Hal hit him/her/them/it/us/you/me)
Comment: This sentence is only acceptable within a particular discourse/context. It can be
understood and accepted if and only if it was stated earlier that Hal hit someone. A10e will be
then uttered to confirm or reaffirm that Hal did hit someone already mentioned.

f) *Hal nadma Ids na
Hal na-ama lds na
Hal PRN.3rd.sg-PST2 talk with
Hal talked to (meaning Hal talked to him/her/them/it/us/you/me

2.2.4 The use of otherwise independent pronouns for clausemate anaphora
NOTE FOR DATA ENTRY OF A10 — make sure references to sentence numbers are references
to the database IDs.
A10g) Ali paégma faag na
Ali na-ama faag na
Ali PRN.3rd.sg-PST2 praise PRN.3rd.sg
Ali praised him.
Comment: No possible coreference between na and Ali here.
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gi) Ali nadma faagé
Ali na-ama faag-¢
Ali PRN.3rd.sg-PST2 praise-OM.3" sg
Ali praised him.
Comment: In A10g there is no possible coreference between Ali na and €.

h) Ali m3 tfjel na
Ali m3 tfjel na
Ali PSTI like PRN.3".sg
Ali has liked him.
Comment: No possible coreference between na and Ali here.

hi) Ali m3 tfjelEé
Ali m3 tjel-é
Ali PST1 like-OM.3".sg
Ali has liked him.
Comment: In A10h there is no possible coreference between Ali na and €.

1) Ali paa dig na
Ali na-a dig na
Ali SM-PST3 see PRN.3rd.sg
Ali saw him
Comment: No possible coreference between na and Ali here.

ii) Ali paa digBé
Ali na-a dig-£
Ali SM-PST3 see-OM.3".sg
Ali saw him
Comment: In A10i there is no possible coreference between Ali na and €.

1) Alipadma Iéfa na né
Ali na-ama lds-ja na né
Ali SM-PST?2 speak-RCM with PRN.PREP.OBJ.3Sg
Ali talked with him
Comment: In A10j there is no possible coreference between Ali and né.

k) Ali padma kandé kdlad
Ali na-dma kand-¢ kdlad
Ali SM-PST2 send-OM.3".sg book

Ali sent a book to him.
Comment: In A10k there is no possible coreference between Ali and €.

1) Ali paédma kwind@é
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Ali na-dma kwind-¢
Ali SM-PST?2 help s.0.-OM.3".sg
Ali helped him
Comment: In A10l there is no possible coreference between Ali and €.

m) Ali paa kwaje masagja
Ali na-a kwaj-€ ma-sagja
Ali SM-PST3 find-OM.3".sg c6-suprise
Ali surprised him
Comment: In A10m there is no possible coreference between Ali and €.

n) Alipaa kusa kdlad ful dé
Ali pa-a kusa kalad ful dé
Ali SM-PST3 buy book for PRN.PREP.OBJ.3".sg
Ali bought a book for him
Comment: In A10n, there is possible coreference between Ali and dé. A10n has two possible
interpretations viz: - 1) Ali bought a book for someone else different from him — 2) Ali bought a
book for himself.

0) Ali padma I5 kdlad m3 digjé na né

Ali n3-dma 15 kélad m3 dig-jé na né

Ali SM-PST2 read book COMPLsee-RFM with PRN.PREP.OBJ.3".sg

Ali read a book about him/that concerns him
Comment: At first sight, in A10o, there is coreference between Ali and né. This sentence in
Makaa will be understood as: ‘Ali read a book about himself’. However, in a context where it
was stated earlier that the book was about someone else, the OM né will be coconstrual with a
referent different fromAli.

p) Ali nadma kwaj kdlad nadi kagu
Ali na-adma kwaj kdlad npa-di kagu
Ali SM-PST?2 find book PRN.3rd.sg-LOC side
Ali found a book by his side
Comment: Same remark as in A10o. The pronoun nadican refer to Ali or to someone else
depending on the context of enunciation.

2.3 Reciprocal Readings
2.3.2 Sorts of reciprocal strategies in Makaa
A- Verb-jastrategy
Allai) Buda bwa ng3 digja
Buda bwa nga dig-ja

Woman SM PROG see-RCM
The women see each other
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NI: Allai could never mean ‘The women see themselves’ as a group. It could also never mean
each woman sees herself. However, sentence Allai has a reflexive counterpart. See Allaii

Allaii) Buda bwa ngs digja ijeni/

b-uda bwas nga  digja  i-jen-if

c2-woman SM.3".Pl PROG see-RFM c8-mirror-LOC

The women see their reflection in the mirrors.
The sentence above has a distributed reflexive reading where each woman sees herself in the
mirror. The sentence can never have a group reflexive reading as contextually, the plurality of
mirrors express the idea according to which each of the women is in possession of one. However,
the sentence could also mean that several groups of women see themselves in different mirrors. I
don’t understand how this is a reflexive reading, unless you mean that the only reading available
here is a group reflexive reading, that is, the whole group of women see the whole group of
women and there is no distributed reflexive reading where each woman sees herself in the mirror
NI: Unlike A1lai[insert ID# assigned to Allai], which could not have a reflexive reading, this
sentence permits a reciprocal reading since each woman is able to see the reflection of another
woman in the mirror.

aii) A nga jilja fili
a nga jil-ja [ilu
he PROG remove-CAUS.RFM hair
He/she is causing someone to remove his/her own hair.
Comment: In A11Aii, ja solely expresses reflexive meaning.. Both constructions are clearly
distinguished by Makaa native speakers. More so, some reflexive constructions, with regard to
the main verb inherent meaning could also express causative as in Allaii. Allaii could never
mean that the subject of remove-CAUS causes someone to remove her (3™ party) hair. The
equivalent of such a sentence in Makaa is
aiii) A ngd sa na a jiljag filu
A ngs  sa nd a jil-ja-g filu
He/she PROG do COMPL he/she remove—CAUS.RFM-HORIZ"d.sg hair
He/she is causing someone (different form SUBJ) to remove his/her (different from
subject) hair

B- Total reduplication of the reflexive pronoun

b) bwd-budim bwadma gusa bwamé na bwamé

bwdn-budium bwa-dma glsa bwa-mé na bwa-mé

children-men SM-PST2 wash PRN.3" pl-REFL with PRN.3".pl-REFL

The boys washed each other.
Comment: In sentence A1l b, it is the total reduplication of the reflexive pronoun that expresses
reciprocity. KS: Can this be used with a singular pronoun for something like ‘John played
basketball one-on-one’? NI: To my knowledge, | can’t find any example of a reduplicated
singular form. | have asked some other Makaa native speakers and none could come out with a
single example of such a form. The strategy can be used with a fully transitive verb. See aiv.

aiv) Biim di faag biméfwo na biméfwo
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Bii-m di faag bi-méfwé na bi-méfwo
PRN.2"Pl-xx HAB  praise PRN.2"".PI-REFL with PRN.2"%.PI-REFL
You always praise each other (in your group).

¢) Budum bwadma wafa mila.
B-udum bwa-adma was-ja mi-li
C2-man SM-PST2 comb-RCM C4-head
The men combed each other's hair.

d) Bwadma fwaja

bwa-dma [waja

they-PST2 argue with each other

They argued with each other.
Comment: KS: What is the gloss of fwaja? Is it fwa-ja, argue-RCM?
NI: Some verbal stems in Makaa present remnant traces of a possible derivational process that
consisted of suffixing the RFM/RCM to a root to form a new lexical item. These roots however

have been fossilized in Makaa and have no meaning any more. Thus, | prefer to write such stems
as a whole rather than separating them.

¢) Bwd-budum bwadma nagja mésén
b-udn-b-udim bws-ama ndg-ja mé-sdan
c2-child-c2-man SM-PST2 kick-RCM c6-kick
The boys kicked each other.

f) Bwsa fimja
Bws3 fim-ja
they hate-RCM
They hate each other.

2.3.3 Oblique arguments
C- Verb-ja + mpadiga + Pronoun

Al2a)Budum bwadma nga Iwaja Maria mpadigd bwa
b-udum bwa-dma nga Iwa-ja Maria mpadigad bwa
c2-men SM-PST2 PROG show-RCM Maria between  PRN.OBJ.3"pl
The men introduced Maria to each other.
Comment: The RCM obligatory here. Without the RCM, the sentence is ungrammatical.

b) Okaldndgond bwadma 13fa
O-kaldndzond bwa-ama lds-ja
c2-traveler SM-PST2 speak-RCM

The travelers spoke to each other.

D- Verb-ja + object (noun) + preposition+ Pronoun
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c) Osénéjéomazdn bwadma ngad gwag isd i digjd na bwa ji
Oséné-6mazdn bwa-dma nga gwagi-sa | dig-ja  na bws jJi
dowers-feats  SM.3".pl-PST2 PROG hear c8-thing c8.AGR see-RCM with PRN.3P1.0bj ¢8.REL
The priests heard stories about each other ORThe priest heard stories that concern them.

ci)Osénéjomazdn bwadma nga gwag isd i digjd nd bwadméfwa ji
Oséng-6madzdn bwa-dma ngad gwag i-sd i dig-jd nd bwaméfwa ji
dowers-feats SM.3".pl-PST2 PROG hear c8-thing ¢c8.AGR see-RCM with PRN.3P1.0bj ¢8.REL
The priests heard stories about each other ORThe priest heard stories that concern them.

KS: Any thoughts about what the REL is doing here? Is that a relative marker or a relative
pronoun? Is ‘things’ c8?

NI: (1) see the gloss for the presence of the REL. (2) I will call it a relative pronoun because in
Makaa it agrees with the head noun, another form of pronominal anaphora I forgot among
pronominal strategies??

KS: How does REL agree? Does it have an agreement paradigm (matching c8.thing)? This is an
odd detail that might be worth looking into independently of the anaphora sketch. NI: REL
agrees with the head noun as follows: (c1 REL is j¢, c2 REL is wd, c4 REL is mi, ¢c6 REL is md,
c3, c5, ¢7, c8, and ¢9 REL is ji. (See aforementioned section B dealing with relative clauses in
Makaa) [Not for data entry]

2.3.4 Other persons and numbers
No new strategy is used in the examples below.

A13a) jws fi digja
JZ) fi dig-ja
PRN.1%.pl.INCL EVID.PST.COP see-RCM
We saw each other.

b) Bim d3ald na kwindja
Bi-mdsald na kwind-ja
2P1.PRN-COP COP PREP help-RCM
You(pl.) ought to help each other.
Comment: This sentence cannot mean ‘you ought to help yourselves’ — it cannot have a reflexive
meaning.
c) Séé gusa
Sé-é gusa
we-FUT1 wash.RFM
We will wash ourselves.
Comment: KS: Is the RFM morphologically fused with the verb or is there some regular
morphology that derives gusafrom gus-ja, or whatever the original verb root is?
NI: Yes the RFM is morphologically fused with the verb root. The verb to wash has two
interchangeably forms in Makaa namely, gujaand gusa. gu- or gus- are meaningless in Makaa.

d) Bwa df dsumja
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bw3d di dsim-ja
PRN.3".pl HAB criticize.someone-RCM
They always criticize each other.

Comment: For more generic readings:

A bul tjgl dgumila buud

A bul tiel  dsum-Ia b-dud
PRN.3rd.sg QUANT like criticize.someone-INF c2-person
He/she likes criticizing people a lot

or
A di dsum buud

A di dsum b-uud
PRN.3".pl HAB criticize.someone c2-person

He always criticizes people
2.3.5 Other clause types, and other strategies

No new strategy in reciprocal embedded clauses.

Al4a) Sol nga tfi n3 ma sds ma nga tfalja
Sol nga tfi na ma-sds ma nga tfal-ja
Sol PROG say that c6-girl SM.c6 PROG love-RCM
Sol says that the girls love each other.

b) Sol nga [ils n3 masds ma tfaljag
Sol nga fila nd ma-sds ma tfal-ja-g
Sol PROG ask/demand that c6-girl SM.c6 love-RCM-HORT
Sol demands that the girls should love each other.

¢) Sol naama tddaga nd masds ma jida na tfalja
Solpa-dma  tddaga nd ma-sds ma jida na talja
Sol SM-PST2 think that c6-girl SM.c6 COP PREP love-RCM
Sol thought that the girls should praise each other.

d) Sol nadma [ila n3 mifila mifagjag
Sol na-ama  [ila nd mi-fila mi  faag-ja-g
Sol SM-PST2 ask that c4-girl SM.c4 praise-RCM-HORT
Sol asked the girls to praise each other.

e) Masds m3 tfjel fagja
Ma-sds ma tfjel faag-ja
c4-girl SM.c4 wish/want praise-RCM
The girls wish to praise each other.

f) Sol nga t3d3gd nd masds ma jida na tfalja
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Sol nga tadagd na ma-sdas ma jida na tal-ja
Sol PROG think/expect that c4-girl SM.c4 COP PREP love-RCM
Sol expects the girls to praise each other.

g) Sol pnadma gwag masds ma ng3d fagja
Sol pa-dma gwag ma-sds md ngd  faag-ja
Sol SM-PST2 hear c4.girl SM.c4 PROG praise-RCM
Sol heard the girls praising each other.

2.4.1 Possessives, alienable and inalienable

Al5a) Paul nadma dzimbal mangup m-¢
Paul na-ama  dsimbal ma-ngiup m-£
Paul SM-PST2 lose c4-shoe AGR.c4-POSS.3".sg
Paul lost one side of his shoes.

b) Paul nadma bin ki dé
Paul na-ama bin ki d-€
Paul SM-PST?2 raise c¢5.leg AGR.c5-POSS.3".sg
Paul raised his leg.

¢) Paul ma béw
Paul m3 béw
Paul PST1 cut oneself
Paul has cut himself. (e.g., accidentally)

d) Paul nagma ninza mbwsa jé
Paul na-dma ninza mbws j-¢€
Paul SM-PST2 examine c5.hand AGR.c5-POSS.3".sg
Paul examined his hand.

e) Paul nadma fanzala tigulu dé
Paul na-ama fanzala tfigulu d-é
Paul SM-PST?2 twist c5.ankle AGR.c5-POSS.3".sg
Paul twisted his ankle (or ‘stubbed his toe”)

2.4.2 Reflexives and reciprocals in nominals
A16) Ndd Andre nad buguld namé ji, jé ntdgia Maria.
Ndd Andre na-d bugula n3-mé ji, i-G ntdgila Maria

as Andre SM-PST3 proud.of.oneself PRN.3rd.sg-REFL c1.REL, SM-PST3 annoy Maria
Andrew's self-confidence annoyed Mary. (the way Andre was proud of himself annoyed Mary)

A17a) Jigili nadma kaam na alwdja ma Andre
Jigili na-ama kdam na a-lwa-ja ma Andre
Teacher SM-PST2 wonder/impress with c1-show-RFM ASS Andre
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The teacher was impressed by Andrew's introduction of himself.
Comment: Ina-Iwd-ja, a- and ja are nominalizing affixes; they are morphologically fused with
the verbal root -/w3- ‘to show something’.

b) 3imald Andre nadma 3imal namé ji, ni ki baw
3imals Andre na-ama 3imal na-mé ji, n-i ki baw
¢9.evaluation Andre SM.3rd.sg-PST2 evaluate PRN.3rd.sg-REFL c¢.9.REL.c9, AGR.c9-SM COP bad
Andrew’s evaluation of himself was too critical.

¢) Minziljag bwaama jija mi, mi figé ba na sdn
Mi-n3ili-ja bwa-dma ja-ja mi, mi fi-gé€ ba n3 sdn
c4-question-NOM PRN.3rd.p1—PST2 give-RCM c4.REL, c4.SM EVID.PST-NEG COP with clarity
Their instructions to each other were not clear indeed.

d)3imald nan bwadma ba na i ji, i figé ba na kakila
3imald n-dn bwa-dma ba na [i ji, i fi-gé ba na kakila
¢9.Evaluation AGR.c9-POSS.3%.pl PRN.3.pl-PST2 COP with EVID REL.c9, SM EVID-NEG COP with noise
Their evaluations of each other were too generous indeed.

2.4.3 To my knowledge, there arefour (4) other sorts of local coconstrual between arguments of a
predicate not mentioned in the preceding section. Below are those I could identify.

A. N1 + N2 + Possessive (N2 belongs to N1/The possessive is coreferent to N1)

A18) Kukumd il je

Kukamd [ils j-&

Chief daughter AGR.c3-POSS

The chief’s daughter.
Comment: This sentence is different from the Noun+Poss strategy already listed in the sense that
in this particular construction, the possessive is coconstrual with an NP that semantically is the
possessor of the noun it determines whereas in the Noun+Poss strategy, the possessive is part of
an object NP and it is coreferent with the subject NP.
KS: So this is like ‘The chief’s his daughter’. Norwegian has something like this, but they use a
reflexive corresponding to his. We will come to this later probably. NI: Exactly

B. Coreference in relative clauses
One can also notice coreference within relative clauses in Makaa. The particularity of this type of
construction is that the relativizer occurs at the end of the RC and it agrees with it antecedent that

can be a noun or a demonstrative pronoun (see table below).

Makaa relative and demonstrative pronouns

Noun class | REL DEM PRN
1 Jjé n-ang
2 wd b-ang
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3 ji w-ang
4 mjad mj-ang
5 ji d-ang
6 md m-ang
7 Ji d3-ang
8 ji b-ang
9 Ji n-ang
10 Ji n-ang

Al19a)Makuma md ngd do ma maa pwajé
Ma-kima ma ngd da ma ma-a nwa-€
c4-cassava AGR.c4 PROG eat REL.c4 SM.c4-NEG be.good-NEG
The cassavas that [ am eating are not good (spoilt).

b)Meé kiisa wang wuisd na gugwan ji
Ma-é kisa w-ang wu-sd na gugwan ji
1Sg-FUT1 buy AGR.c3-DEM.PRN AGR.c3-COP still new REL.c3
I will buy that which is still new.
KS: This is a very interesting phenomenon, but I would not call it an anaphoric strategy. I would
speculate that REL is a relative clause final complementizer that agrees with the head noun. NI:
Yes right.

C. Noun + AGR-ong
The demonstrative determiners listed below function differently from those listed in the preceding

section inthat they function as determiners though they are anaphoric, i.e, they refer to
aforementioned referent. They can never replace a noun as it is the case in A19b.

Noun class | ANAPH.DEM. DET
1 w-ongi
2 b-ongi
3 w-ongi
4 mj-onga
5 d-ongi
6 m-onga
7 dz-ongl
8 bj-ongii
9 n-ongi
10 n-ongli

A20)Meéé kusa dzdw w-ongi
Ma-é kisa dzaw w-ongl
1Sg-FUTI1 buy c3.house AGR.c3-ANAPH.DEM.DET

25



I will buy that house (the aforementioned house).
Not for data entry: KS: Nice observation. I had never thought of the English construction this way.
Food for thought! NI: Thanks for the compliment.

Not for data entry: D. AGR-sa strategy

The verb b3la‘to become/to be’ in Makaa, when conjugated in the present tense occurs with
agreement marker— coconstrual with the subject — prefixed to it. The verb root changes its form as
in most of Indo-European languages (French, English, German...) from ba to s3; H-I5 being the
infinitive marker. In the table below the forms in classes 1 and 2 are equivalent to the forms that
go both with personal pronouns and with non-animate items that belongs to gender 1/2. It is worth
mentioning that most of the time, Makaa native speakers leave out either the proclitic or the verb
sa. But this does not affect the meaning of the sentence. If the main subject is left out as in A21d,
the construction becomes a cleft construction.

KS: I would not normally think of this as an anaphoric strategy, but rather a construction for
asserting that a nominal property pertains to the subject — no actual referring back. Useful to have
this, however. NI: You have a point here. | totally agree with your remarks and suggestions. Should
we remove it or present the data differently?

Noun class | Syntactic Marker
1 1.Sg | dgi-sa
2" Sg | dgi-sd
314.Sg | dgi-sd
2 1'Pl | bi-sa
2" Pl | bi-sd
3Pl | bi-sd
3 wU-53
4 mu-sa
5 du-sa
6 mu-sa
7 azi-sa
8 bi-so
9 ni-sa
10 ni-sa

KS: We will leave this in, with our discussion. Maybe someone looking at the AQR will have a
different idea about it. NI: Ok

A2la)Mé; dzisa; mudim;
Meé dzi-sa m-udim
PRN.Ist.sg  AGRcl-COP cl-man
[ am a man.

b)Mé dsi mudim
Me azi m-udim
PRN.Ist.sg AGR.cl.COP cl-man
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I am a man.

A21c)Meé sa mudim
Me s m-udim
PRN.1st.sg COP cl-man

I am a man.

d)dzisa mudim

a3i-sa m-udim
cl.AGR-COP cl-man
It is a man.

2.4.4 Summary of reflexive and reciprocal strategies
REFLEXIVES

A- Pronoun-méfwo strategy

B- Pronoun-mé strategy

C- Object-Null strategy

D- BODY-object strategy

E- Verb-ja strategy

F- Noun + possessive strategy

G- Independent pronoun
Pronoun-di strategy
Preposition [ul (for) / na (with) + pronoun
na (with) + Pronoun strategy

H- N1+N2 + Possessive — possessor agreement
I- Noun+AGR-ongi

RECIPROCALS

A- Verb-ja strategy

B- Total reduplication of the reflexive pronoun

C- Verb + mpadiga + pronoun

D- Verb-ja + Object (noun) + preposition + pronoun

KS: This is an edited version of sections 3 and 4 of the Anaphora Questionnaire (AQ) that is
available at our site. I have truncating the remainder of the questionnaire so as to speed the work.

3.6 Interaction with verb morphology - Incompatibilities

3.6.1 Tense, Mood, Aspect.

Makaa counts 7 absolute tenses: 3 future tenses; 4 past tenses in addition to a present tense. The
present tense has two sub-categories, namely, a general present and a gnomic present (Ibirahim
2007, 2009, 2013b). Makaa distinguishes three moods: Indicative, Subjunctive and Imperative
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(Heath, 2003: 345).

Based on Nurse’s 2008 analysis of TAM in Bantu and on empirical data from Makaa, Ibirahim
(2013b: 14ftf.) shows that Makaa uses inflectional morphemes at Pre-Stem, Post-stem position,
reduplication, repetition and compounding to mark 13 aspects grouped as follows: (i) Imperfective
(progressive, habitual, iterative, persistive and continuative), (i1) Perfective (factative, completive
and evidential), and Miscellaneous aspects (inceptive, prioritive, proximate, counter-assertive and
haste).

To the best of my knowledge, Makaa tenses, aspects and moods are almost all compatible with the
coconstrual strategies examined in the preceding section (B3a-c), exception made from the
continuative aspect which is solely compatible with the object-Null strategy (B3d) and generates
ungrammatical constructions with other coconstrual constructions (B3e).

B3a) Gina ma di gusa nal
Gina ma di gusa nal
Gina COP HAB wash body.REFL
Gina (generally) washes herself

b) Gina @m3 gusd nal
Gina ma gusa nal
Gina PST1 wash body.REFL
Gina has washed.

¢) Gina ma d3ald na gusa nal
Gina ma dgala na gusa nal
Gina COP ought to wash body.REFL
Gina should wash herself.

d) Gina nga gusa-gusdg
Gina nga gusa-gusa-g
Gina PROG wash.REFL-wash.REFL-CNTI
Gina keeps washing herself.

e) *Gina nga gusa-gusdg nal
Gina nga gusa-gusa-g nil
Gina PROG wash.REFL-wash.REFL-CNTI body.REFL
Gina keeps washing herself.

Comment: B3e is ungrammatical because continuative constructions in Makaa end in
reduplicated verb. Thus, the occurrence of the object nll ‘body’ violates the rule.

3.6.3 (formerly 3.6.1) To my knowledge, I am not aware of operations or morphemes that cannot
co-occur with this strategy.
) Ali nadma 15 kdlad ma digjé na pdméfwo
Ali p3-6m3 15 kdlad m3 dig-jd n3 p3d-méfwd
Ali SM-PST?2 read book COMPL see-RFM PREP PRN.3" sg-REFL
Ali read a book about him/that concerns him.
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3.7 Uses that are not quite coreference

In Makaa, there are other usages of the PRN-méfwo and PRN-méwhich does not express
coreference between two arguments or adjuncts (e.g., like locatives or directionals). PRN-méfwo
and PRN-mé are used (with a slight difference, see examples B3g-j) to convey the meanings ‘also’
and ‘alone’.

g) Jean nga glsa naméfwao
Jean nga gusa Na-méfwo
Jean PROG wash.REFL PRN.3rd.sg-REFL.
Jean is bathing alone.

h) Jean nga gusa namé
Jean nga  gusa Na-mé
Jean PROG wash.REFL PRN.3rd.sg-REFL.
Jean is bathing alone.

1) Jean pnaméfwad nga gusa
Jean na-méfwo nga gusa
Jean PRN.3rd.sg-REFL PROG wash.REFL
Jean is bathing also

J) *Jean namé nga gusa
Comment:Both PRN-méfwo and PRN-méat Object position are accepted in contructions
conveying the meaning ‘Jean is bathing alone’. On the contrary, to convey the meaning ‘Jean is
bathing also’, only the PRN-méfwo is acceped at post-subject position and not the PRN-mé. 1
cannot find a reason to justify why (j) is just not acceptable.

3.7.1 Idiosyncratic or inherent. Makaa distinguishes two major categories of verbs inherently
expressing reciprocity (few) or reflexivity (the majority). The first category comprises verbs
equivalent in meaning to the English set of ‘verb oneself” or the French pronominal verbs, such as
‘se mentir’(B3k). The second group is made-up of derived verbs comprising an existing or
fossilized root that has fused with the RFM/RCM (B31).

(B3k) Verb Gloss Verb Gloss
bagiwa brag (se vanter) bweef get oneself wet
bud cover oneself finziwa weave one’s way
bwadad dress oneself béw wound oneself
bwdgiwo lie oneself down tje bump oneself into sm.
biil to get onself trapped déw make oneself buried
gwodiga give a sign of life dzdgiwo  lean oneself against sm.
gwogiwa rub oneself kaam wonder (se vanter)
néw get on one’s knees Jwaw hide oneself
woga rest (oneself) ntamd get spoiled (se gater)
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1) Verb Gloss Verb Gloss

baja wed (se marier) lagja be doubled up with pain
bé (wed) +jd lag(?)+ jé (se tordre de douleur)
tilja enroll oneself Iwéja show oneself

tfilo (écrire) + ja Iwd+jd (se faire voir)

léfa have a talk

lds (écrire) +ja

3.7.2 Emphatic or intensifier. As in the English, The president himself answered the phone.

Your language may also have forms that require a local antecedent but seem to indicate a
relationship with an antecedent that stresses how a particular participant related to an event. We
see this with constructions in English like (Blc,d)

Blc) Jean pad da fi naméfwéo
Jean na-a da [0 pna-méfwo
Jean SM-P3 eat fish PRN.3sg-REFL.
John ate fish himself.

d) Jean naméfwdé nad do [i
Jean pna-méfwaé na-d da [a
JeanPRN.3sg-REFL.SM-P3 eat fish
John himself ate fish.
Comment: Sentence Blc, in context, could have reading B or C. Sentence B1d solely conveys
reading D in Makaa. Reading A also could be obtained from (B1c) if Jean is focused as in (Ble).
Ble) Jean 6 ndd da fi naméfwao
Jean 6 na-a da fi na-méfwo
Jean FOC SM-P3 eat fish PRN.3sg-REFL
John (and no one else) ate fish alone.
A) John alone did this - i.e., only John and no other individuals did this.
B) John did this alone - John was unaccompanied when he did this.
C) John himself did this - John appearing in person did this (no one did it for him)
D) John himself did this - Even John did this (e.g. Although you would not have thought he
would, John also ate the crispy jellyfish)

3.7.3 Middle (or passive). Makaa uses two distinct morphemes: —ja (for participle, equivalent to
the English Verb+ed forms) and —ow (for passives) for middles.
» Participle (very productive in makaa)

B1f) Jean sa mbaja
Jean sa ba-ja
Jean COP wed-rcM
John is wedded/married.

fi) A sample list of participles in Makaa
Participle Gloss Verb Gloss
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mbajd wedded <bd wed
bé+ ja
mbézja sharpened <bddnz sharpen
badnz+ ja
cagjd carved <caad carve
caad+ja
calja cut down <cal cut down
cal+ja
ndamja packed <daam pack
daam+ja
fagja combed <faadag comb
fddg+ja
nguja rooted <gu root
gu+jd
mandjd tightened <maand tighten
mddnd+jd
jédja spoiled <jad spoil
fdadag+ja
> Passive (productive in makaa)

Blg) Jé sijow
I-é sG-ow
PRN.3sg-F1  do-pass.
It will be done.

gii)) A sample list of passive forms in Makaa

Passive forms Gloss Verb Gloss
jiljow sitted <jil make sit down
jiH-ow
jidjow beaten up <jid beat up
jid+ ow
najow torn <naa tear
naa+ow
mpujow known <mpu know
mpu+ow
sijow done <sa do
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sa+ow

Comment: The suffixation of the morphemes —jd and —ow triggers phonological changes in the
root, e.g: vowel raising, vowel shifing and stops prenasalizations

3.7.4 Distributive, sociative, etc. To my knowledge, no such strategies exist in Makaa.

3.7.6 Focus.
Please translate these question-answer pairs. (Numbers are out of sequence here for a reason)
Z3 0-f6l-6-famb3 bwa-dma dig jé?
PRN.INT.C2-worker-ASS-farmPRN.2pl-P2 seeREL
Who did the farmers see?

Bwddma digé

bwd-dma dig-£€
PRN.2pl-P2 see-OM.3sg
They saw him.

(For example, the children are playing hide and seek in the yard, four girls and one boy, John. The
farmers entered the yard but they only saw John).

B16) Omb33i 6 figé dig Maria. N3 bwddma dig ji.
0-mb331 6 fi-gé dig Maria.N3-6 bw3-dm3 dig ji.
C2-farmer c2.AGr EVID.PAST-NEG see Mary. PRN.3sg-FOC PRN.3pl-P2 see REL
The farmers didn’t see Mary. They saw him.

3.7.7 To my knowledge, there is no other way of using any strategy mentioned earlier in any other
construction without expressing reciprocity or reflexivity.

3.8 Proxy readings

Proxy readings are difficult to get in Makaa since, in examples B8-10, neither the body reflexive
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nor the PRN-méfwd can be used to refer to someone’s statue. Culturally, the Makaa people do not
carve, the have no statues. Similarly, their tradition is oral, and the majority of the population is
not learned. Anything carve or moulded is called vagile ‘image’. To get the right interpretation in
some B8-9 sentences or a closer one, ‘himself has to be replaced by vagie-je ‘his image’ or mitfiljd
mjé ‘his writings’.
B8a) Tasibi nga dig vagilé dsé mpddnz3d ivagilé.

Tasibi nga dig vagié dz-€ mpddnza i-vagté

Tasibi PROG see C7.image C7-POSS hall C8-image

Tasibi admires her statue in the museum.

b) Mongo Beti naa fwé 16n mitfilia mjé Swahilif,
Mongo Beti na-a fwé 16n mi-tfila-ja mj-¢ Swahili-f
Mongo Beti PRN.3sg-NEG AUX.NEG read C4-write-NOM c4.AGr-POSS Swahili-LOC
Mongo Beti has not yet read his writings in Swabhili,

td3 ndd npdd ma 16n mitfilia mjé Espan3kf

t33 nda na-d ma 16n mi-thi-jé mj-& Espan3l-if

even as PRN.3sg-P3 PST1 read C4-write-NOM ¢4.AGr-POSS Spanish-LOC
though he has read his writings in Spanish (a long time ago).

The differences emerge in English for cases like those in (B9). Imagine that the wax museum is
having a special event, which the wax statues of each celebrity will be washed and dressed by the
celebrity they represent.

B9a) Tasibi nadma gusa vagilé dzé toogu-toogu ful na i ku ntama.
Tasibi na-ama gusa vagié dz-£€ toogu-toogu ful na i ki ntama
Tasibi sM-P2 wash C7.image C7-POSs suffery-RED for that SM COP.NEG spoil
Tasibi washed her statue carefully, so that it will not get damaged.

b) Tasibi nadma gusa toogu-tdogu ful nd vagié dzé i ku ntama.
Tasibi na-ama gusa toogu-toogu [ul na vagHé dz-€ i ki ntama
Tasibi SM-P2 wash suffery-RED for that C7.image C7.AGr-POSS SM COP.NEG spoil
Tasibi washed carefully, so as not to damage her statue.

¢) Tasibi nadma bjééd vagilé dzé mikddnds toogu-toogu ful na i ku ntama.
Tasibi na-ama bjééd vagilé dz-€ mi-kadnda toogu-toogu [ul na i ku ntama
Tasibi SM-P2 dress s.0. C7.image C7.AGr-POSS C4-cloth suffery-RED for that SM C7 COP.NEG spoil
Tasibi dressed her statue carefully, so as not to damage it.

d) Tasibi nadma bwddd mikddnd3 toogu-toogu ful na vagHé dzéi ku ntama.
Tasibi na-ama bwddd mi-kadnds toogu-toogu [ul nd vagié dz-€ i ku ntama
Tasibi sM-P2 dress C4-cloth suffery-RED for that ¢7.image C7-POSS SM COP.NEG spoil
Tasibi dressed carefully, so as not to damage her statue.
Comment: Contextually, B9d can only refer to a situation whereby Tasibi dressed herself
avoiding any false movement that could make her damage her statue.
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e) Tasibi nadma dig mbela je zdnif, vadad a [igé tfjéelé dig.
Tasibi na-ama dig mbéla j-€ zan-f, vadd a [i-g€ tfjel-€ dig
Tasibi SM-P2 see spitting image C1-POSS show-LOC, but she EVID.PAST-NEG like-OM.PRN.3sg see
Tasibi saw her spitting image in the show, but she didn't like to see her.
Comment: The object marker -€ cannot refer to Tasibi.
Test for proxy readings in your language and see if there are instances where they are possible and
others where they are not. Proxy readings do not require locality, so cases like B10a-c are also
generally possible.

B10a) Mongo Beti nga tfi nd mitfilia mjé Swahilif mi nwdla
Mongo Beti nga tfi nd mi-tfila-ja mj-¢ Swahil-if mi nwa-HIa
Mongo Beti PROG say that c4-write-NOM C4-POSS Swahili-LOC SM be.fine/good-INF
Mongo Beti says he sounds better in Swahili.

b) Tasibi nadma bugila nd vagie dgé dgiss dgdd
Tasibi pa-dm3 bugiana vagie dg-édgi-s3 dg35
Tasibi SM-P2 believe thatc7.image c7-poss €7.sM-COP beautiful
Tasibi thought that she looked handsome. (he = statue of Castro)

Proxy readings are also possible for reciprocals in many languages. For (B11a), once again the
antecedents are the authors and each other describes the works these authors have written, such
that Mark Twain did not read Victor Hugo's novels in Swahili and Victor Hugo did not read Mark
Twain's novels in Berber. For (B11b), imagine a show where there are actors masquerading as our
two protagonists. The first each other refers to the person Marlene and Castro, but the second each
other refers to the actors (or statues) representing them on the stage or in the show.

B11a) Mongo Beti band Mveng bwdd [igé I5ja mitfiljc Berbérif
Mongo Beti bwa-n3-a Mveng bwa-d [i-gé [5-ja mi-tfil3-jé BErber-if
Mongo Beti PRN.3pl-with-PRN.3sg Mveng SM-P3 EVID.PAST-NEG read-rRcM c4.write-Nom berber-Loc
Mongo Beti and Mveng did not read each other in Berber.

b) Marlene band Tasibi bwdd [igé digjd mpadigad buud,
Marlene bwa-na-a Tasibi bwa-d [i-gé dig-ja mpadigad b-uud,
Marlene PRN.3pl-with-PRN.3sg Tasibi PRN.3pl-P3 EVID.PAST-NEG see-RCM among c2-person
Marlene and Tasibi did not see each other in the audience (in between people).

vadd bwdd dig mimbéla mjén fifj€ zan.

vadd bwa-ddig mi-mbéla mj-dn fifj€ zan

but PRN.3pl-P3 see c4.spitting image c4-POSS yard show
but they did see each other on the stage/in the show.

Comment: Makaa requires the use of a nominal describing the representation (mi-mbela) to get
readings that correspond to the proxy cases. No reflexive or reciprocal strategy avoides this.

3.9 Ellipsis

Consider the following examples, which all have an ellipsis of one sort or another. In
(B12), there is missing structure that is parallel or identical to stated structure and it is interpreted
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as if it is there.
B12a) Mary mé tfjél namé 45 Bill
Mary mé tfjél n3-mé tf5 Bill
Mary COP love PRN.3sg-REFL surpass Bill
Mary likes herself more than Bill
NI: B12a is grammatical, and it means exactly that ‘Mary likes herself more than she likes Bill’

b) Mary mé tfjél ndmé tf5 ndaa Bill mé tfjél namé ji
Mary mé tfjél né-mé 5 ndaa Bill mé tfjél ns-mé ji
Mary COP love PRN.3sg-REFL surpass as Bill COP love PRN.3sg-REFL REL
Mary likes herself more than Bill loves himself

English permits both of these, though I suspect (B12b) may not be as widely available as (B12a).
If not, then concentrate on (B12a). The following readings, where the Italicized portions are what
is missing for (B12a,b) but can be interpreted as if it was there (which is what is meant here by
‘ellipsis’). Makaa does not permit B12a. On the other hand, B12b can only have the reading in

(iii).

i) Mary mé tfjel namé 5 ndaa Bill mé tfjél Mital ji
Mary mé tfjél n3-mé tf5 ndaa Bill mé tfjel Mital ji
Mary COP love PRN.3sg-REFL surpass as Bill COP love Mital REL
Mary likes herself more than Bill likes Mital.

ii) Mary mé tfjel némé 5 ndaa Bill mé tfjél na ji
Mary mé tfjél n3-mé tndaa Bill mé tfjél n3 ji
Mary COP love PRN.3sg-REFL surpass as Bill COP love PRN.3sg REL
Mary likes herself more than Bill likes her(=Maria).

iii) done in B12b
Maria likes herself more than Bill /ikes himself.

Please try to formulate sentences like those in (B12a) (and/or B12b, if that is possible) trying out
each of the non-reciprocal strategies in the first clause and determining for each strategy which of
the readings i-iii. are possible. If you have several strategies in your language, then we expect you
will have many examples as translations of (12a,b) for whatever verb works with the strategy in
question. Please adjust the examples to use appropriate verbs for the strategy you are testing, and
if there are generalizations about which verbs go with which strategies more successfully, that
would be very interesting to know. Remember to try both affixal and argument anaphor strategies,
if your language has both.

» - ja(participle)
¢) Fwdn s3 mpli ba kwagjd tf5 wind
fwdn s3 mpu b3 kwadg-jd 5 wind
maize COP COP be grind-REFL surpass peanuts
Maize is better ground than peanuts (are ground)
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> - jow (passive)
¢) Maria padma kwagjow tf3 Bill
Maria p3-éma kwaag-jow tf3 Bill
Maria PRN.3sg-P2 grind-PASS surpass Bill
Mary was beaten mercilessly than Bill (was beaten)

PART 4 Exploration of syntactic domains
4.1 Clausemate coconstrual
4.1.1 Verb class restrictions

4.1.1.1 Canonical transitives - Can this strategy be used with ordinary transitive verbs, such as
the verb meaning "see"? Give some examples, including the following.

» Pronoun-naméfwo
Cla) Bob nga dig naméfwo
Bob nga dig na-méfwo
Bob PROG see PRN.3sg-REFL
Bob saw himself.

b) Budd bwdma nga dzaw ndad bwaméfwo bwa sa na
b-udd bwa-dma nga dzaw ndaa bwa-méfwaé bwa s3 nd

c2-woman SM-P2 PROG say as PRN.3pl-REFL they COP REL

The women described themselves.
KS: In the absence of the verb corresponding to ‘describe’, would this correspond to something
like “the women said as to themselves how they are”? NI: Yes sure. It could also mean that the
women described themselves to a third party; it depends on the context or the speaker’s
intention.

¢) Bjdma nddg biméfwo masdn

bi-dma nddg bi-méfwo ma-sdn
PRN.2pl-P2 kick PRN.2pl-REFL c6-action.of kicking.with.leg(s)
You (pl.) kicked yourselves.

d) bwdma faag bwaméfwao
bwa-dma faag bwa-méfwo
PRN.3pl-P2 praise PRN.3pl-REFL
They praised themselves

4.1.1.2 Commonly reflexive predicates - Can this strategy be used with verbs of grooming,
inalienable-possession objects, etc? Give judgements on the following. Provide some additional
examples of your own. We already have ‘wash’, so try ‘dress’ and ‘shave’, if they have
appropriate translations. You might also try predicates like ‘scratch’, ‘stretch’, ‘sit” and other
body posture predicates that some languages express with reflexive forms. We also have ‘cut’
already, so please pick other predicates that behave in this way, adding perhaps a list of them.

C3a) Donna nga sa naméfwao
Donna nga sd na-méfwo
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Donna PROG do PRN.3sg-REFL
Donna harms herself. (X = Donna)

b) Don nga gwdg mpimba na naméfwao

Don nga gwag mpimba na pna-méfwao
Don PROG hear anger with PRN.3sg-REFL
Don is angry with himself. (X = Don).

c) Sds nga naagia nil
sds nga naagta nal
girl PROG scratch body.REFL
The girl scratches herself [unintentionally] (X = the girl)

4.1.1.3 Psychological predicates. Please provide examples for verbs like those below, even if
nothing exact seems appropriate for the current strategy, marking them according to the level of
their acceptability based on the scale given above.

C4a) John ma fim ndméfwao
John m3 fim na-méfwo
John COP hate PRN.3sg-REFL
John hates himself

b) John nga gwag fwdén na naméfwao

John nga gwag fwén na na-méfwao
John PROG hear shame with PRN.3sg-REFL
John is ashamed of himself.

c) John nga gwag bugu na naméfwo

John nga gwag bugu na na-méfwao
John PROG hear c4.joy with PRN.3sg-REFL
John is eager about himself

d) John nga gwag mintaag na naméfwo

John nga gwag mintaag na na-méfwao
John PROG hear c4.joy with PRN.3sg-REFL
John is proud of himself

e) John nga ntdgia naméfwo

John nga ntdagia pna-méfwao
John PROG worry/trouble PRN.3sg-REFL
John worries/troubles/ himself

4.1.1.4 Creation and destruction predicates. Provide examples in addition to (CS5) using verbs of

creation (e.g., "sew", "make", "form") or destruction (e.g. "kill", "eliminate", "make disappear").

C5a) Budd bwéé ntaman bwaméfwo
b-tudd bwa-é ntaman bwa-méfwad
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c2-woman SM-F1 spoil PRN.3pl-REFL
The women will destroy themselves

b) Mafina ma nga kwambia maméfwo
ma-fina ma nga kwambila ma-méfwao
c6-machine COP PROG built ¢c6.PRN-REFL
The machines built themselves (X = themselves)

¢) Budd bwéé gu bwaméfwo
b-udd bwa-é gii bwa-méfwo
c2-woman SM-F1 kill PRN.3pl-REFL
The women will kill themselves

¢) Budd bwéé laad bwdméfwo mikadnds mjan

b-udd bwa-é laad bwa-méfwo mi-kadnds mj-dn
C2-woman SM-F1 sew PRN.3pl-REFL c4-cloth c4-POSS
The women will sew their clothes themselves

4.1.1.5 Verbs of representation. Reflexive versions of these verbs include instances where
individuals act on their own behalf, rather than have someone act in their name or for them.

C6a) Mantflwamd mddma téw ful bwaméfwad
ma-ntfwdma ma-ama téw [ul bwa-méfwao
C6-boy SM-P2 stand for PRN.3pl-REFL
The boys represented themselves.

b) John nga keem naméfwao

John nga keem na-méfwo
John PROG defend PRN.3sg-REFL
John is defending himself

¢) John nadma Ids ful ndméfwo

John pa-ama lds ful na-méfwo
John SM-P2 talk for PRN.3sg-REFL
John spoke for himself.

d) John nadma sadmbila ndméfwao

John na-adma saambila na-méfwo
John SM-P2 disgrace PRN.3sg-REFL
John disgraced himself.

4.1.2 Argument position pairings

4.1.2.1 Subject-indirect object - The preceding questions asked mostly about subject-object

coreference. Can this strategy be used to express coreference between a subject and an indirect
object? Choose verbs that have an indirect object in your language.
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C7a) Mary nadma nifa naméfwao bdonz
Mary na-ama nifa na-méfwo béonz
Mary SM-P2 hit PRN.3sg-REFL slap
Mary gave a slap to herself/Mary slapped herself

b) John nadma tfila naméfwo kdlad

John pa-ama tila na-méfwo kalad
John PRN.3sg-P2 write PRN.3sg-REFL letter
John wrote a letter to himself (X = John)

For comparison, also provide judgements for the following:

C8a) same as in C7a
Mary gave herself a slap (X = Mary)

b) John nadma Iwd bwdn nil
John na-éma Iwd b-udn nal
John SM-P2 show c2-child body.REFL
John showed himself to the children (X = John)
Comment: In Makaa, in ditransitive constructions, the indirect object always precedes the direct
object as in C7a-b and C8b, reason why C7a and C8a can’t be different.
KS: For (C8b), does that mean that he literally allows his body to be seen? I am trying to see if
Body.REFL has a kind of inalienable possession reading, but I am not sure how to treat this
example to get at it. Maybe you have an idea.
NI: Sentence C8b means that he introduced himself to the children. It does not mean that he
showed his nakedness to the kids. To the best of my knowledge, I really don’t think reflexive
constructions is Makaa distinguish between alienable vs. inalienable.

4.1.2.2 Oblique arguments -

C9a) Dan nadma fusla na naméfwo
Dan na-ama [usla na na-méfwo
Dan SM-P2 got.angry with PRN.3sg-REFL
Dan got angry with himself.

b) Dan nadma tén Mary Idn i digjd na naméfwa ji
Dan na-ama tén Mary lan i dig-ja na na-méefwo ji
Dan SM-P2 tell Mary story SM see-RFM with PRN.3sg-REFL REL
Dan told Mary (a story) about himself (X = Dan)

¢) Dan nadma kusa kdlad ful ndméfwao
Dan na-ama kusa kdlad [ul na-méfwao
Dan SM-P2 buy book for PRN.3sg-REFL
Dan bought a book for himself.
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4.1.2.3 Subject-adjunct - Provide some examples of coreference between a subject and an adjunct,
e.g., a locative PP. If appropriate translations are not prepositional objects, try to construct
appropriate examples.

C10a) Mary nadma dig nwé nadi mpisa kwon
Mary na-ama dig nwa na-di mpisa kwon
Mary PRN.3sg-P2 see snake PRN.3sg-LOC behind back
Mary saw a snake behind her (X = Mary)

b) Mary nadma dzdw ma [ul matén ma digjé na naméfwo

Mary na-ama dzdw ma ful ma-tén ma dig-jd na na-méfwao
Mary PRN.3sg-P2 call PRN.1sg for C6-issue SM see-RFM with PRN.3sg-REFL
Mary called me because of an issue about herself (X = Mary)

c¢) John nadma fweenz Mary na tfjé na naméfwad

John na-adma fweenz Mary na tfjé na na-méfwo
John PRN.3sg-P2 offend Mary with why with PRN.3sg-REFL
John offended Mary because of himself (X = John)

d) Sadma kwd gwo na tfjé na saméfwo

$3-dma kwd gwo na tfjé na s3-méfwo
we-P2 just laugh with why with PRN.2pl-REFL
We laughed in spite of ourselves

4.1.2.4 Ditransitives and double complements- Can the strategy be used to indicate coreference
between the two non-subject arguments of a verb?. If there is more than one way to express the
two non-subject arguments of a verb like "give", give examples for each type of construction. In
English, for example, we would want examples both of the type "show Hal the book" and "show
the book to Hal." (where X = Hal for Cl1a-d). For example, for (Cl1c), Bill gave Hal himself,
which is admittedly pragmatically awkward, but imagine for (C11a) that Mary is showing Hal his
image in the mirror - imagine Hal had never seen a mirror before.

Clla) *Mary nadma Iwa Hal wé naméfwao
Mary na-ama Iwa Hal wé na-méfwao
Mary PRN.3sg-P2 show Hal to PRN.3sg-REFL
Mary showed Hal to herself.

b) Mary nadma Iwaja nul wé Hal
Mary na-ama Iwa-ja nul wo Hal
Mary PRN.3sg-P2 show-RFM body to Hal
Mary showed X (herself) to Hal.

¢) Bill naéma ja Hal naméfwao

Bill na-éma ja Hal na-méfwao
Bill PRN.3sg-P2 give Hal PRN.3sg-REFL
Bill gave Hal himself.
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d) same as Cllc as the indirect object always precedes the direct object in Makaa.
Bill gave X Hal.

e) Mary nadma dzaw mantfwamad matén ma digjd na bwaméfwao

Mary na-ama dzaw ma-ntfwamad ma-tén ma dig-jé na bwa-méfwo
Mary PRN.3sg-P2 tell C6-boy C6-issue SM see-RFM with PRN.3pl-REFL
Mary told the boys about themselves.

f) Mary nadma nga lwé mantfwdmd mpadigd bwa
Mary na-adma nga Iwd ma-ntfwamad mpadigd bwa
Mary PRN.3sg-P2 PROG show C6-boy between them
Mary showed/introduced/presented the boys between each other.

fi) Mary nadma nga Iwa mantfwdma mpadigd bwamé na bwdmé
Mary na-ama nga lwd ma-ntfwama mpadigd bwa-mé na bwa-mé
Mary PRN.3sg-P2 PROG show C6-boy between PRN.3pl-REFL with PRN.3pl-REFL
Mary showed/introduced/presented the boys in between them.

fil) Mary nadma nga lwé mantfwama mpadigd bwdméfwad
Mary na-dma nga Iwd ma-ntfwamd mpadigd bwa-méfwo
Mary PRN.3sg-P2 PROG show C6-boy between PRN.3pl-REFL
Mary showed/introduced/presented the boys between each other.

KS: Here the slashes are a bit confusing. Please provide separate sentences with a single strategy
option and the appropriate interpretation. However, it looks like the reciprocal reading occurs
here in the absence of RCM and that both independent pronouns and PRN-méfwd can have a
reciprocal reading just in case it is embedded in a mpadigd PP. Is this right? NI: Yes, I espouse
your analysis.

Also, please try the following:

g) The boys know that Mary likes mpadigd bwa/bwa-mé na bwa-mé/bwa-méfwo

Does this have the reading that each boy knows that Mary likes the other boys? Does the
reciprocal reading fail altogether?

g) Mantfwdmd ma mpu nd Mary ma tfjel bwa
Ma-ptfwama ma mpu nd Mary ma tfjel bwa
C6-boy PST1 know that Mary COP like them
The boys know that mary like them (No possible RFL or RCM reading).

gi) *Mantfwamd ma mpu nd Mary m3 tfjel bwamé na bwamé/bwaméfwao

The boys know that Mary loves each other/in between them

4.1.2.5 Two internal arguments or adjuncts - Consider coreference between two arguments of
adjunct NPs in the same clause, neither of which is a subject and neither of which is a direct object
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(if your language has such constructions - if not just say so and move on). Consider X=Hal in
(C12). If I were answering for English, I would say that (C12c) is successful with the pronoun-
SELF strategy, (C12b, d) fail with both pronoun-SELF and the independent pronoun strategies,
and C12a is marginal with the independent pronoun strategy.

C12a) Bill naama tén naméfwao Hal tfig dzjé
Bill na-ama tén na-méfwo Hal tig dzj-€
Bill PRN.3sg-REFL talk PRN.3sg-REFL Hal c7.life ¢7-POSS
Bill talked about Hal to himself.

b) done in C12a
Mary talked about X to Hal.

¢) Mary ndgama tén Hal ldn i digjé na né/naméfwao

Bill na-ama tén Hal Ian i dig-jé na né/na-méfwo
Bill PRN.3sg-p2 talk Hal story SM see-REFL with PRN.3sg/PRN.3sg-REFL
Mary talked to Hal about himself.

d) Done in C12c
Mary talked to X about Hal.

Comment: C12 is successful only with the Noun + Possessive strategy (C12a) and the na +
Pronoun strategy (C12c). C12b and C12d are identical to C12a and C12c¢ respectively as indirect
objects always precede direct objects in ditransitive constructions.

4.1.2.6 Clausemate non-coarguments

Possessives - Give examples based on the following sentences, and/or by constructing analogous
examples from reflexive sentences from the previous sections. For each of (C13) and (C14), X
= Nick.

Please indicate if the verb+ja strategy is the only one possible for the coreference relation in C13
or if a simple possessive pronoun without ja is also possible, perhaps with optional non-
coreferent readings

Noun + Possessive pronoun strategy (the only possible strategy with C13a, but an alternative
strategy for C13b, ¢)

C13a) Nick nadma dzdw noéngu jé
Nick na-dma dzdw nongda j-€
Nick PRN.3sg-p2 call/telephone cC1.mother C1-POSS
Nick telephoned to his mother.
b) Nick nadma waas filu dzé
Nick na-ama waas filu d3-€
Nick PRN.3sg-P2 comb C7.hair C7-POSS
Nick combed his hair.
Comment: The verb+ja strategy is not really the only possible alternative for C13b. There is a
possibility to have these constructions with a simple coconstrual possessive pronoun without ja.
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¢) Nick nadma Ids na pdsuu jé
Nick na-dma lds na pdzuu j-&€
Nick PRN.3sg-P2 speak with C1.boss C1-POSS
Nick spoke to his boss.
Comment: The verb+ja strategy is not really the only possible alternative for C13c. There is a
possibility to have these constructions with a simple coconstrual possessive pronoun without ja.

body reflexive strategy (an alternative for C13b)

bi) Nick nadma waas IG
Nick na-éma waas I
Nick PRN.3sg-P2 comb head
Nick combed his hair. .[sentence related to (C13bii, biii)]

Verb-ja strategy coupled with Noun + possessive pronoun (an alternative for C13c¢)

bii) Nick nadma wafa li
Nick na-dma waas-ja i
Nick PRN.3sg-P2 comb-RFM head
Nick combed his hair.[sentence related to (C13bi, biii)]
biii) Nick nadma waas Iu j€
Nick na-ama waas 14 j-€
Nick PrRN.3sg-P2 comb head C1-POSS
Nick combed his hair. .[sentence related to (C13bi, bii)]

ci) Nick nagma léfa na ndzudu jé
Nick na-ama lds-ja na ndzuu j-é
Nick PRN.3sg-P2 speak-RCM with C1.boss C1-POSS
Nick interacted with his boss.
KS: What makes this version of ja reciprocal-like? There is no plural antecedent. NI: The
reciprocal reading is inherently express by the verb meaning. I have revised the gloss to fit with
the context. Noun + Possessive pronoun strategy (an alternative for C13bi; ci)

Pronoun-di strategy (the only possible strategy for C13d-e)

d) Nick nadma bad kaldd jé nddi mpwoomb-if
Nick na-ama bad kdlad j-€ pna-di mpwoomb-if
Nick PRN.3sg-P2 put.on C1.book C1-POSS PRN.3sg-LOC face-LOC
Nick put his book on his face.
Pronoun-di strategy (the only possible strategy for C13d)

e) Ngwamina pnadma ja Nick tfumlé nadi kwddda

ngwamina na-ama ja Nick tfumla na-di kwaada
authority PRN.3Sg-P2 give Nick prize PRN.3sg-LOC village
The authority gave Nick a prize in his village.
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Pronoun-di strategy (the only possible strategy for C13e)

f) Mantfwamd madma gusa Nick mpwoombu
ma-ntfwdmad ma-ama gusa Nick mpwoombu
c6-boy sMm-p2wash Nick face
The boys washed Nick's face.
Body strategy (the only possibility for C13f)

Cl4a) Nick séngu m3 tfjel di € dig
Nick songu ma tfjel di € dig
Nick father.REFL COP like HAB OM.PRN.3sg see
Nick's father admires him.
Comment: C14a in Makaa goes neither with body reflexive nor PRN-REFL strategies. C14a rather
goes requires the presence of an OM or a PRN that is coconstrual with Nick.

b) Imami i Paul jé m3 ntdgia na
imami i Paul i-6 ma ntdgta na
C8.ambition ASS Paul SM-P3 destroy PRN.3sg
Nick's ambition destroyed him.
Comment: C14b in Makaa goes neither with body reflexive nor PRN-REFL strategies. C14b rather
goes requires the presence of an OM or a PRN that is coconstrual with Nick.

¢) Paul nangt nadma kafa na matwa

Paul nangt na-ama kiafa na matwa
Paul mother SM-P2 sell PRN.3sg car
Nick's mother sold his car.

Please provide translations and judgments for the following examples where the plural pronoun is
coconstrued with the boys or the poltiticians.

Below are the possible strategies that can be used depending on the construction.
Noun + possessive pronoun strategy (the only possibility for X20a)

X20a) Mantfwamd bwdd dig ijog bjdn
ma-ntfwadma bwa-d dig i-jog bj-dn
c2-boy SM-P3 see c8-picture c8-POSS
The boys saw pictures of themselves/each other/them
Comment: Body reflexive and PRN-REFL can not go with X20a in Makaa.

Noun + possessive pronoun strategy (a possibility for X20b)
b) Mary ndd Ids na mantfwamd [ul ijag bjdn

Mary na-a lds na ma-ntfwamadful i-j3g bj-an
Mary PRN.3sg-P3 talk with c6-boy for c8-picture c8-POSS
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Mary told the boys about pictures of themselves
Comment: Body reflexive and PRN-REFL can not go with X20b in Makaa. Noun + possessive
pronoun strategy (a possibility for X20b)

Verb-ja coupled withNoun + possessive pronoun strategy (a possibility for X20b)

bi) Mary ndd 13fa na mantfwamd [ul ijag bjdn
Mary na-d lds-ja na ma-ntfwamdful i-jag bj-an

Mary PRN.3sg-P3 talk-RCM with c6-boy for c8-picture c8-POSS

Mary interacted with the boys about pictures of themselves
Comment: Body reflexive and PRN-REFL can not go with X20c in Makaa. Verb-ja strategy
(a possibility for X20b)
KS: Why do you gloss the ja as RCM if the translation is reflexive? Could this also be translated
as ‘Mary talked to the boys about pictures of each other’? NI: I have changed the verb talk to
read interact to justify the RCM used. Yes, the sentence could also mean ‘Mary talked to the boys
about pictures of each other’.

Verb-jastrategy (a possibility for X20b)

c) Ofwajé 6 itfind bwdd kwifa lumbulu
O-fwajé 6 i-tfund bwa-d kwifa lumbulu
c2-taker ASS c8-decision SM-P3 plan.RCM attack
The politicians planned attacks against each other.
Comment: Body reflexive and PRN-REFL can not go with X20c in Makaa.

d) Ofwajé 6 itfund bwdd sd ndad bwa kwifd lumbulu
O-fwajé 6 i-tfund bwa-d sG ndad bwa kwifa lumbuld
c2-taker ASS c8-decision SM-P3 do as.if they plan.RCM attack
The politicians faked/simulated attacks against themselves.
Comment: Body reflexive and PRN-REFL can not go with X20c in Makaa.

4.1.2.7 Demoted arguments - Refer back to the range of grammatical function-changing operations
(such as passive, antipassive, applicative, possessor ascension, dative alternation) that you
considered for section 3.6 (if you did that). For each one, construct some representative non-
reflexive examples. Then apply each coreference strategy to various pairs of arguments and report
their grammaticality status. It might be easier to go back to 3.6 to do what is asked there once you
have done this section.

For English, the by-phrases in (C15a, b) are not interpretable as "alone" (see 3.6) and are not
generally regarded as acceptable with by herself.

Comment: For Makaa likewise, the by-phrases in (C15a, b) cannot be interpretable as "alone" and
are not regarded as acceptable with by herself. In Makaa, in C15a, b, it can only be understood that
Poly was praised and helped by someone else. Passivized constructions in Makaa exclude the by-
phrases.

C15a) Polly nad fagjow
Polly na-a faag-jow
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Polly PRN-3sg-P3 praise-PASS

Polly was praised (by X=different from Polly)
Comment: Passive constructions do not have the by phrase in Makaa. It is not tolerated at all. The
passive marker implies the by phrase.

C15ai) Polly naa faag namé(fwd)
Polly na-a faag na-mé(fwo)
Polly PRN-3sg-P3 praise PRN.3sg-REFL
Polly praised herself

b) Polly nad kwiidjow
Polly na-a kwiid-jow
Polly PRN.3sg-P3 help-PASS
Polly was helped (by X=different from Polly)

bi) Polly nad kwiid namé(fwa)

Polly na-a kwiid na-mé(fwo)
Polly PRN.3sg-P3 help PRN.3sg-REFL
Polly was helped (by X=different from Polly)

¢) Polly md mpu bibaale isd i digjd na né ji

Polly ma mpu bibaale i-sd i dig-ja na né ji
Polly COP know small C8-thing SM see-REFL with PRN.3sg REL
Little is known by Polly about him-/herself (X = Polly)

ci) Polly md mpu bibaalg isd i digjé na namé(fwa) ji
Polly md mpu btbaale i-sd i dig-ja na na-mé(fwd) ji
Polly COP know small C8-thing SM see-REFL with PRN.3sg-REFL ¢8.REL
Little is known by Polly about him-/herself (X = Polly)

d) Lii jama dzigjow

lii i-ama dgig-jow
tree SM-P2 burn-PASS
The wood burnt

di) Lii jama digs dwaméfwo
lit i-ama dziga dwa-méfwa
tree SM-P2 burn ¢7.PRN-REFL
The wood burnt itself

There are more subtle cases, like (C15d), where the interpretation is not equivalent to "the wax
melted", but requires an odd agency for the subject such that it acted on itself to melt itself. The
latter interpretation requires some sort of animacy for the subject, but the problem for C15d in this
regard is can be mitigated, insofar as it is possible to imagine a fairy story in which an animate
wax character Max commits suicide, hence Max melted himself.

4.1.3 Properties of antecedents

4.1.3.2 Animacy or humanity- If animacy plays a role in choice of strategy or if a strategy is
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restricted to human (or metaphorically human) entities, please give examples showing both success
and failure of the strategy in a way that illustrates the difference.

C18a) History repeats X
Comment: Can’t find an appropriate translation in Makaa

b) Mbii fu ga ma di da dwaméfwao

mbii [ ga m3 di da dwa-méfwa
species fish DEM COP HAB eat ¢7.PRN-REFL
This type of fish cannibalizes itself

¢) fina ga ma di ntamd dwaméfwo
Jina ga ma di ntamad dwa-méfwao
machine DEM COP HAB spoil ¢7.PRN-REFL
This machine destroys itself (e.g., after you use it)

4.1.3.3 Pronoun types - If your language has more than one class of subject pronouns (e.g., clitic
and non-clitic), repeat the tests of the previous section for each type. Also repeat for null pronouns,

if applicable.
4.1.3.4 Quantifiers - Provide judgements for the following sentences, where X is a pronoun

corresponding to the subject successfully, or X is the anaphoric (reflexive) strategy that achieves
a reflexive (coconstrued) reading.

C19a) Mudd jéf nadma dig namé(fwd)
m-udd j-éf na-dma dig nd-mé(fwa)
cl-woman c1-QUANT PRN.3sg-P2 see PRN.3sg-REFL
Every woman saw herself.

b)Mwdn jéf nadma glsd namé(fwa)

m-udn j-€[ na-dma gusa na-mé(fwao)
cl-child C1-QUANT PRN.3sg-P2 wash PRN.3sg-REFL
Every child washed himself/herself.

¢) Mwa fikul jéf ma fim namé(fwd)

m-udn fikul j-€f ma fim nd-mé(fwd)
cl-child school c1-QUANT COP hate PRN.3sg-REFL
Every student hates himself/herself.

d) Mwadn jéf nadma dig nwé kundkind na ndmé(fwd)

m-udn j-€[ na-dma dig nwa kunadkuna pna-mé(fwo)
cl-child c1-QUANT PRN.3sg-P2 see snake near PRN.3sg-REFL
Every child saw a snake near himself/herself.

e) Mwadn jéf nadma dzdw nongd jé

m-udn j-€f na-ama dzdw nongd j-€
cl-child c1-QUANT PRN.3sg-P2 telephone cl.mother c1-POSS
Every child telephoned his/her mother.

f) Songu mwadn jéf ma tfjél dila dig j¢ mwdn

Songi m-udn j-€f ma tfjél di-Hla dig j-¢€ m-udn
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father c1-child c1-QUANT COP like/admire HAB-INF see c1-POSS c1-child
Every child's father admires him/her.

Repeat, replacing the quantifier "Every N" with "No N", and if any quantified antecedents behave
differently from these, please provide the same paradigm.

C19a) To maudd figé dig namé(fwa)
to muda [i-g€ dig na-mé(fwo)
no woman EVID.PAST-NEG see PRN.3sg-REFL
No woman saw herself.
4.1.3.5 Questioned antecedents - As in (C19), X is coreferent with the wh-word in all of the
following (if C20e is possible in your language). If your language leaves question words in situ,

translate accordingly, and if your language allows both in situ and fronted questions, then provide
examples of both possibilities and judgments for each of the coreference strategies.

C20a) Z3 nadma dig ndméfwao?
23 na-ama dig na-méfwo
who PRN.3sg-P2 see PRN.3sg-REFL
Who saw himself/herself?

b) Z3 nadma gusd ndméfwa?

23 n3-dma gusa na-méfwo
who PRN.3sg-P2 wash PRN.3sg-REFL
Who washed himself?

¢) Z3 nadma dig nwé kundkuna na ndméfwao?

23 na-ama dig nwad kunakuna nana-méfwao
who PRN.3sg-P2 see snake near with PRN.3sg-REFL
Who saw a snake near himself/herself?

d) Zs nadmadzdw nonga jé?

23 na-ama dzdw nonga j-€
who PRN.3sg-P2 telephone cl.mother c1-POSS
Who telephoned his/her mother?

e) Zajé séngld ma tfjél dila € dig?

73j-€ songd ma tfjél di-HI3 & dig?
who c1-POSS father COP like HAB-INF OM.PRN.3sg see
Whose father admires him/her?

4.1.3.6 Reverse binding - In the following examples, the full NP (‘antecedent’) appears in the
lower (prototypically, object) position. Try to translate these into your language. It is expected that
many sentences constructed in this section, possibly all, will be unacceptable in many languages

(as *Himself saw Fred is in English). Naturally, any examples which are not ungrammatical are of
particular interest.

C21a) *namefwd nddma dig Fred
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Na-mefwo Na-ama dig Fred
PRN.3sg-REFL PRN.3sg-P2 see Fred
Himself saw Fred.

b) *Sdméfwd sddma digja
$3-méfwo s3-dma dig-ja
we-REFL we-P2 see-RCM
We saw us. (X=us)

c) *namefwoé nddma dig nwé Fred di mpisa

Na-mefwo na-ama dig nwd Fred di mpisa
PRN.3sg-REFL SM-P2 see snake Fred LOC behind
Himself saw a snake behind Fred.

d) X impressed Fred
Comment: Can’t find a possible translation in Makaa

e) *Bill nddma Ids na namefwo isd i digja na Fred ji
Bill na-déma Ilds na pna-mefwé  I-sd i dig-ja na Fred ji
Bill PRN.3sg-P2 speak with PRN.3sg-REFL c8-thing SM see-RFM with Fred c8.REL
Bill spoke to Himself about Fred.

f) *Bill naddma tén ndmefwa isd i digja na Fred ji

Bill na-éma  tén na-mefwo  I-sa i dig-ja na Fred ji
Bill PRN.3sg-P2 tell/narrate PRN.3sg-REFL c8-thing SM see-REFL with Fred REL
Bill told himself about Fred (but correct if himself=Bill)

g) *namefwo nddma fagijow

na-mefwo Na-ama fagila-jow
PRN.3sg-REFL PRN.3sg-P2 praise.PASS
Himself was praised by Fred.

h) *Woméfwo ma tfjel wo
wo-méfwo md tfjél wo
PRN.2sg-REFL COP like you
Yourself is liked by you. (X = you)

If the current strategy permits a possessive position to be coreferent with its antecedent, please
indicate if an anaphor or a pronoun is possible in the position of X, which should correspond to
George in all of these examples.

C22a) *nadma dzdw George nongi
Na-ama dzdw George nongi
PRN.3sg-P2 call George mother.REFL
He telephoned George's mother. (He # George)
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b) *nongd je nad tjél dzusa George

nongd  j-€ na-d tfiel dzusa George
cl-mother cI-POSS PRN.3sg-P3 like improve George
His mother wanted to improve George. (His # George)

¢) X's mother worried/impressed George.
Comment: Can’t find a possible translation in Makaa

d) *Mary nadma bwiing néngu maten ma digjd ns George md
Mary na-ama bwiing néngi maten ma dig-ja na George ma
Mary SM-P2 tell/narrate mother c6.story SM see-REFL with George c6.REL
Mary told his mother about George.

e) Jog ma ndngu jama kiud George nuf
jog ma néngu i-dma kud George nal-f
picture ASS mother SM-P2 fall George body-LOC
A picture of his mother fell on George. (He = George)

f) Jog ma néngu jdma nwa George lamif
jog ma néngu i-ama nwa George lam-if
picture ASS mother SM-P2 please George heart-LOC
A picture of his mother pleased George.(He = George)

4.1.4 Some matters of interpretation
4.1.4.1 Distribution, reflexivity and reciprocity -

Which of the following meanings can the examples below have? Say which it can have and
which it can't have. We will say that if the form in place of X permits at least (C24a) or (C24f) as
a reading, then the form in question permits a reciprocal interpretation.

C24a) Each woman helps all (or almost all) of the women, excluding herself.
b) Each woman helps all of the women, including herself.
c) Each woman helps at least some of the other women.
d) Each woman helps herself.
e) The women together as a group help the women together as a group.
f) Each woman helps one of the women other than herself, such that all of the women are
helped by one of the others.
Translate each of the following examples, which are compatible with collective action, and state
their possible interpretations as above.

Duplication of the reflexive pronoun
C231) Budd bwa nga kwiind bwamé(fwd) na bwamé(fwd)
b-uda bwa nga kwiind bwa-mé(fwd) na bwa-mé(fwa)
c2-woman SM PROG help.s.o PRN.3pl-REFL with PRN.3pl-REFL
The women help themselves.
Comment: This sentence is equivalent to c24e, and c24a-d, f excluded)
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Pronoun-mé(fwd) strategy
C231’) Budd bw3 nga kwiind bwamé(fwd)
b-tudd bwa nga kwiind bwa-mé(fwd)
c2-woman SM PROG help.s.o PRN.3pl-REFL
The women help themselves. (This sentence is equivalent to 24e, and 24a-d, f excluded)

Verb-ja strategy
C231”) Budd bw3 nga kwiindja
b-udd bwa nga kwiind-ja
c2-woman SM PROG help.s.0-RCM
The women help themselves/each other.
Comment: This sentence is equivalent to 24e, f, and 24a excluded,

Verb-ja strategy + Duplication of the reflexive pronoun
C23ii) Budd bwa nga kwiindja bwamé(fwd) na bwamé(fwao)
b-udad bwa nga kwiindbwa-mé(fwd) na bwa-mé(fwd)

c2-woman SM PROG help.someone PRN.3pl-REFLwith PRN.3pl-REFL

The women help themselves/each other.
Comment: This sentence is equivalent to 24e,f, and 24 a-d excluded)
KS: All the strategies above in (23) allow for the (24¢) reading. What factors determine whether
one or the other of these strategies is chosen to represent this reading? Are there nuances of
meaning or focus that determine these choices, or are all these sentences equivalent when they
express (24e)? NI: It all depends on the context and the speaker’s choices.

The same question arises for (C231”) and (C23ii) — what, if anything, distinguishes the choice of
strategies to represent the C24f reading?

C24f) Muda jéf nddma nga kwiid madd ifus
M-udd -jéf na-dma nga kwiid m-uadd ifus
cl-woman QUANT PRN.3sg-P2 PROG help with cl-woman else/different
Each woman was helping one of the women other than herself.

C24f1) Budum bwddma gwiilja
b-udum bwa-dma gwiil-ja

c2-man PRN.3pl-P2 kill-RCM

The men killed themselves (Where each man killed himself)
Comment: Most of the strategies do not allow distributed reflexive readings. Which strategy
would be employed for ‘The men killed themselves’ when it is intended that each of the men
killed himself? NI: the verb-ja strategy or verb+ja + body strategy, with the verb gwil ‘to kill
oneself’

fii) Budum bwddma gwiilja manal
b-udum bwa-ama gwiil-ja ma-npal
c2-man PRN.3pl-P2 kill-RCM c6-body
The men killed themselves (Where each man killed himself)
Comment: Most of the strategies do not allow distributed reflexive readings. Which strategy
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would be employed for ‘The men killed themselves’ when it is intended that each of the men
killed himself? NI: the verb-ja strategy or verb+ja + body strategy, with the verb gwil ‘to kill
oneself’

Pronoun-mé(fwd) strategy (The sentences below are equivalent to 24e, and 24a-d, f excluded)
C25a) Budd bwddma fagia bwaméfwo
b-udd bwa-dma fagta bwa-méfwo
c2-woman SM-P2 praise PRN.3pl-REFL
The women praised themselves. (This sentence is equivalent to 24e, and 24a-d, f
excluded)

b) Budd bwéé keem bwaméfwo

b-tudd bwa-é keem bwa-méfwo
c2-woman SM-F1 defend PRN.3pl-REFL
The women will defend themselves.

¢) Budd bwddma nwad bwsméfwa jogif

b-tdd bwa-dma nwad bwa-méfwé jog-if
c2-woman SM-P2 take PRN.3pl-REFL picture-LOC
The women photographed themselves.

d) Budd bwddma kufa na bwaméfwao

b-udd bwa-adma kisa-ja na bwa-méfwao
c2-woman SM-P2 sell-RCM with PRN.3pl-REFL
The women betrayed themselves.

Verb-ja strategy (The sentences below are equivalent to 24e,f, and 24a-d excluded)

C25a) Budd bwddma fagilja
b-udd bwa-dma fdgia-ja
c2-woman SM-P2 praise-RCM
The women praised each other/themselves.

b) Budd bwéé keemilja
b-tudd bwa-é keem-Hla-ja
c2-woman SM-F1 defend-INF-RCM
The women will defend themselves/each other.

¢) Budd bwddma nwa3s-ja ijog
b-udd bwa-dma nwad-ja i-jog
c2-woman SM-P2 take-RCM c8-picture
The women photographed themselves/each other.

Comment: In the light of the observations made above, it appears that the Verb-ja strategy permits

both reciprocal and reflexive readings whereas the Pronoun-mé(fwd) and total reduplication of the
reflexive only permits reflexive reading.
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4.1.4.2 Reciprocal readings - Complete this section only if your strategy allows a reciprocal
reading (i.e., permits a reading like those in (C24a) or (C24f). If the strategy is ambiguous, make
sure to use verbs that allow the reciprocal interpretation.

Which of the following verbs can the strategy be applied to?

C26) bwama"meet", dig "see", "fight", Ids "speak, talk", "hit"

Symmetric predicate
C26a) John band Bill bwddma bwama
John bwa-na-a Bill bwa-dma bwama
John PRN.3pl-with-PRN.3sg Bill SM-P2 meet.RCM
John and Bill met each other.

Verb-ja strategy
C26a) John band Bill bwddma digja
John bwa-na-a Bill bwa-ama dig-ja

John PRN.3pl-with-PRN.3sg Bill SM-P2 see-RCM

John and Bill saw each other.
KS: Suppose John and Bill are standing next to each other looking into a mirror — could this
mean either ‘John saw himself and Bill saw himself” or ‘John and Bill saw themselves together’?
NI: It has both meanings.

b) John band Bill bwddma I3fa

John bwa-na-a Bill bwa-adma Ilds-ja
John PRN.3pl-with-PRN.3sg Bill SM.c2-P2 talk-RCM
John and Bill spoke to each other.

C27) John met/saw X with Bill (Meaning: "John and Bill met/saw each other.")
Comment: Not possible in Makaa.

¢) Is there any difference in the range of interpretations permitted for (C28a) as opposed to (C28b),
or any difference in reciprocal strategies that support these interpretations? If so, tell us what you
think the problem is and provide pairs like these for subsequent tests in this section (and let us
know if male/female gender pairings introduce any complications).

C28a) John b3nd Mary bwddma fagilja
John bwa-na-a Mary bwa-adma  fagila-ja
John PRN.3pl-with-PRN.3sg Mary SM.c2-P2 praise-RCM
John and Mary praised each other.

b) Budd bwddma fagija
b-tuda bwa-ama fdgila-ja
c2-woman SM.c2-P2 praise-RCM
The women praised X.
Comment: No, there is no difference between a plural subject and a plural conjoined subject. Both
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are expressed by the same RCM.

d) Can the strategy express reciprocity between a subject and an indirect object?
Comment: No, as both the Object-Null and Verb-ja strategies do not admit an object.

C29a) John and Mary spoke to X.
b) John and Mary met with X.
c¢) John and Mary gave this book to X.

e) Long-distance reciprocal readings - For any of the strategies that permit a reciprocal reading,
can the following sentence be translated to mean "Bill thinks he likes Mary, and Mary thinks she
likes Bill"?

C30) Bill band Mary bwa nga bugtd nd bwam tfélja
Bill bwa-na-a Marybwa nga bugta na bwa-matfél-ja
Bill PRN.3pl-with-PRN.3sg Mary SM PROG think/believe that they-COP like-RCM
Bill and Mary think that they like each other.
Comment: This can have the matrix reciprocal reading.

4.1.4.3 Sociative readings
Please translate these sentences, more than one way, if possible. Please be sure to let us
know if one of the reciprocal or reflexive strategies can be used to achieve these readings.

C31a) Okdm bwddma tij s3mbd
O-kdm bwa-dma tij sdmbd
C2-monkey SM-P2 leave together
The monkeys left together
Comment: There is only one way to translate the sentences — none of the anaphors are used for
sociative readings.

b) Okdm bwddma da 6fi s3mbd
O-kém bwa-dma d3 o-fi s3mbd
C2-monkey SM-P2 eat C2-fish together
The monkeys ate fish together
Comment: There is only one way to translate the sentences — none of the anaphors are used for
sociative readings.

4.1.4.4 Antipassive readings

C32a) Nkweén éne nga kwagia baud
nkweén éne nga kwagila b-uud
panther that PROG bite C2-person
That panther bites people.
Comment: There is no antipassive reading achieved by the use of an anaphoric strategy.

b)Ngwaminanga bii buud
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ngwaminanga bii b-uud
government PROG arrest/catch C2-person
The government arrests people.
Comment: There is no antipassive reading achieved by the use of an anaphoric strategy.

¢) Bill nga fdag#a buud
Billnga  fdgia b-uud
Bill PROG praise c2-person
Bill praises people
Comment: There is no antipassive reading achieved by the use of an anaphoric strategy.

4.2 Cross-clausal binding
4.2.1 Coreference relations across typical tensed clausal complement

4.2.1.1 Tensed complement, long distance relations, anaphor in situ - Please provide translations
for all of these sentences where X is Jack.

Pronominal strategy and Pronoun-méfwé strategy
D1a) Jack nadma tfi n3 a sa nki jaswa
Jack na-ama tfi nd a sa nki jaswa
Jack SM.c1-P2 say that he COP COP smart
Jack said that he is smart.

ai) Jack nadma tfi nd naméfwao sa nki jaswa
Jack na-amatfi nd na-méfwo sa nki jaswa

Jack SM-P2 say that PRN.3sg-REFL COP COP smart

Jack said that he also is smart.
Comment: The use of the Pronoun-méfwo strategy in this section gives the reading ‘Pronoun
also’ KS: Is na-mé instead of na-méfwaé bad in Dai? Is yul in place of no-méfwé bad in Dai? NI:
na-mé instead of na-méfwd are in free variation in Makaa. ndl is just not acceptable in Dai as
jaswa cannot be used to qualify inalienable, nul ‘body’ in this case.

b) Jack ma mpu n3 George m3 tfjélé
Jack ma mpu n3 George ma tfjél-é
Jack COP know that George COP like-OM.PRN.3sg
Jack knows that George likes him.
Comment: The Pronoun-méfwo strategy fails in D1b because the reflexive pronoun is
coconstrued with George and not with Jack.

bi) Jack ma mpu na George ma tfjél na
Jack ma mpu n3 George ma tfjél na
Jack COP know that George COP like PRN.3sg
Jack knows that George likes him.

¢) Jack ma mpu na Bill pad ti na a sa nki jaswa
Jack ma mpu na Bill na-d tfi na a sa nki jaswa
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Jack COP know that Bill PRN.3sg-P3 say that he COP COP smart
Jack knows that Bill said that he is smart.

ci) Jack ma mpu n3 Bill pad tfi nd naméfwo sa nki jaswa
Jack ma mpu na Bill na-d tfi nd na-méfwao sa nki jaswa
Jack COP know that Bill PRN.3sg-P3 say that PRN.3sg-REFL COP COP smart
Jack knows that Bill said that he also is smart.

d) Jack ma bug#la n3 Lisa ma mpu nd Wendy m3 tjelé

Jack ma bugtla nd Lisa ma mpu nd Wendy ma tfjel-é
Jack COP think that Lisa COP know that Wendy COP like-OM.PRN.3sg
Jack thinks that Lisa knows that Wendy likes him.

di) Jack ma bugila na Lisa ma mpu nd Wendy ma tfjel na
Jack ma bugila n3 Lisa ma mpu nd Wendy ma tfjél na
Jack COP think that Lisa COP know that Wendy COP like PRN.3sg
Jack thinks that Lisa knows that Wendy likes him.
Comment: The Pronoun-méfwo strategy fails in D1d because the reflexive pronoun is
coconstrual with Wendy and not with Jack

e) Jack ma bug#la na Lisa ma mpu na a tfjel Alice

Jack ma bug#la nd Lisa ma mpu na a tfjél Alice
Jack COP think that Lisa COP know that he like Alice
Jack thinks that Lisa knows that he likes Alice.

ei) Jack ma bugila na Lisa ma mpu na naméfwo ma tjel Alice
Jack ma bug#la nd Lisa ma mpu na na-méfwo ma tfjél Alice
Jack COP think that Lisa COP know that PRN.3sg-REFL COP like Alice
Jack thinks that Lisa knows that he also likes Alice.

f) Sarah naama dzaw Jack na Lisa ma tfjélé

Sarah pa-ama dzaw Jack na Lisa ma tfjel-é
Sarah PRN.3sg-P2 tell Jack that Lisa COP love-OM.PRN.3sg
Sarah told Jack that Lisa loves him.

fi) Sarah naama dzaw Jack na Lisa m3 tfjél na
Sarah na-ama dzaw Jack na Lisa ma tfjél na
Sarah PRN.3sg-P2 tell Jack that Lisa COP love-OM.PRN.3sg
Sarah told Jack that Lisa loves him.
Comment: The Pronoun-méfwo strategy fails in D1d because the reflexive pronoun is
coconstrual with Lisa and not of Sarah.

g) Sarah naama dzaw Jack n3 a tfjél Wendy
Sarah na-ama dzaw Jack na a tfjel Wendy
Sarah PRN.3s-P2g tell Jack that he love Wendy
Sarah told Jack that he loves Wendy.
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gi) Sarah naama dzaw Jack nd naméfwo matfjel Wendy
Sarah na-ama dzaw Jack nd na-méfwoms tfjel Wendy
Sarah PRN.3sg-P2 tell Jack that PRN.3sg-REFL COP love Wendy
Sarah told Jack that he also loves Wendy.

Although there is no morphological marking of the distinction in English, sometimes a difference

in factivity makes a difference for what we are studying and we want you to consider this
difference.

D2a) Jack nad magia nd Mary nad tfjélé

Jack na-a magila na Mary na-a tfjel-é
Jack PRN.3sg-P2 admit that Mary PRN.3sg-P3 love-OM.PRN.3sg

Jack admitted that Mary loved him.

b) Jack nad bugHa nd Mary nad tjelé

Jack na-é bugtla na Mary na-a tfjel-€
Jack PRN.3sg-P3 believe that Mary PRN.3sg-P3 love-OM.PRN.3sg
Jack believed that Mary loved him.

Please also test adjuncts, such as those in (D3), where X = Jeft.

D3a) Jeff nadma fwaman Mary d3d Ella nadma dztim na ji
Jeff na-ama fwaman Mary dzd Ella na-ama dzim na ji
Jeff PRN.3sg-P2 accuse Mary when Ella PRN.3sg-P2 blame him REL
Jeff complained about/accused Mary when Ella blamed him

b) Jeff nadma ninga ndsdw d3d nadma gwag tag nal ji

Jeff na-ama ninga ndzdw dzd pna-ama gwag tag nal ji
Jeff PRN.3sg-P2 return home when PRN.3sg-P2 hear tire body
Jeff returned home when he became tired.

c) Jeff nadma ninga ndzdw fufwdgi na nd Mary tfilag na

Jeff na-ama ninga ndzdw [ufwdégi na nd Mary tfila-g na
Jeftf PRN.3sg-P2 return home prior with that Mary write-HORT PRN.3sg
Jeff returned home before Mary wrote to him.

d) Jeff nadma tij Mary ku € dig

Jeff na-ama tij Mary ku € dig
Jeff PRN.3sg-P2 leave Mary NEG.HORT OM.PRN.3sg see
Jeff left without Mary seeing him.

e) Mary nadma ja Jeff mabég a ku € dig
Mary n3-6ma ja Jeff mabég a ku € dig
Mary PRN.3sg-P2 give Jeff C6.guilt PRN.3sg NEG.HORT OM.PRN.3sg see
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Mary condemned Jeft without meeting him.

Comment: There is no difference, with respect to anaphoric strategies, between complements and
adjuncts. None of the reciprocal strategies would work in these contexts. There is no change
noticed in differences in gender, plurality or person.

4.2.1.2 Climbing from tensed complements -

D3h) John nga bugtila fig

John yga bugila fig

John PROG believe intelligence

John believes himself to be intelligent
Comment: This is not a climbing structure.

hi) *Matfwadmd m3 tfjelja faag ‘The boys want to praise each other”
Ma-tfwdmd ma tfjél-ja faag
c6-boy PST want/like-RCM praise
‘The boys want to praise each other”

KS: Please try ‘The boys want to praise each other”, i.e., place the ja on the ‘want’ verb instead of
on the ‘praise’ verb (faag). | want to see if the RCM can be attached to a verb higher than the one
it is thematically related to. Also try ‘The prisoners tried to kill themselves’ with the ja on ‘try’.
Please provide the sentences even if they are starred. NI: The RCM/RFM in Makaa never attaches
to a verb higher than the one to which it is thematically related.

hii) *Mimbuig mjdma wdéja gwil ndl
Mi-mbuitig mi-dma wé-ja gwil pdl
c4-prisoner c4-P2 try-RFM kill.oneself body
“The prisoners tried to kill themselves’
Comment: The RCM/RFM in Makaa never attaches to a verb higher than the one to which it is
thematically related.

4.2.2 Long distance relations and the variety of clausal embedding types
Consider what a list of major clause embedding types in your language would include.

X12a) I hope [to leave]
I hope [for Bill to leave]
I expect [Bill to be unpleasant]
I persuaded Bill [to leave]
b)I made [Bill leave]
¢) I saw [someone leaving]
d I require [that he speak softly]
e) I consider [Bill unpleasant]

In this subsection, we want you to construct sentences along the lines of those presented for tensed
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clauses above adjusting for the different complement clause types allowed in your language (which
may be radically fewer than those in English, or may involve types of complementation not found
in English). Then test each clausal type for the success or failure of each coreference strategy.

For subjunctives, if your language permits them and if your language permits them to have
lexical subjects, the tests can probably proceed on the model of tensed clause complements.
However, some of these clausal types require some adjustments if they require null subjects. For
example, in providing data for infinitives (if your language has infinitives), and where X = Edgar,
we want you to give us a range of examples where the infinitive subject is not controlled by the
matrix subject. In other words, the understood subject of the infinitive (the understood giver or
talker) should never be Edgar, but Bill (or else we will actually testing just a clausemate strategy
instead of a long distance one). Thus in (D4a), for example, Bill is understood to be the one
trusting, and we want to test whether or not X could be Edgar, and if so, which form makes the
possible (in English, it is the otherwise independent pronoun him).

If only the pronominal strategy works for coreference in these positions, translate using the
pronoun and then comment on the strategies that would fail if in that position, e.g., body reflexives,
PRN-mé(fwo). NI: The PRN-mé(fwo) strategy does not work for coreference here.

D4a) Edgar ndama [ila Bill n3 a jagé bugs dzjé dzjéf
Edgar na-ama [ila Bill na a ja-g-£€ buga dzj-€ dzj-€f
Edgar PrN.3sg-P2 ask Bill that he give-HORT-OM.PRN.3sg C7.trust C7-POSS C7-QUANT
Edgar asked Bill to trust Him.

b) Edgar nddma [ila Bill n3 a jagé kdlad

Edgar na-ama f[ila Bill n3 a ja-g-€ kdlad
Edgar PrRN.3sg-P2 ask Bill that he give-HORT-OM.PRN.3sg book
Edgar asked Bill to give a book to him.

¢) Edgar naama [ila Bill na a Idsig na né

Edgar na-ama [ila Bill n3 a Ids-tg na né
Edgar PRN.3sg-P2 ask Bill that he talk-HORTWith PRN.3sg
Edgar asked Bill to talk to him.

d) Edgar naama [ila Bill n3 a ténig isd i digjd na né ji

Edgar na-ama [ila Bill n3 a tén-ig i-sd i dig-ja na né ji
Edgar PRN.3sg-P2 ask Bill that he talk-HORT C8-thing SM see-REFL with PRN.3sg REL
Edgar asked Bill to talk about him.

e) Edgar ndama bugila na Bill é ja na buga dzjé dzjéf

Edgar na-ama bugtlana Bill é ja na buga dzj-¢€ dzj-&f
Edgar PrRN.3sg-P2 expect that Bill F1 give PRN.3sg 7.trust C7-POSS C7-QUANT
Edgar expected Bill to trust him.

f) Edgar nadma [ila Bill n3 a dzanag na né

Edgar na-ama [ila Bill n3 a dzana-g na né
Edgar PrN.3sg-P2 ask Bill that he pay-HORTWith PRN.3sg
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Edgar ordered Bill to pay him.

g) Edgar naama [ila Bill nd a tfig nd a sa nki jaswa

Edgar na-ama [ila Bill n3 a tfi-g n3 a sa nk# jaswa
Edgar pPrRN.3sg-P2 ask Bill that he say-HORTthat he COP COP smart
Edgar ordered Bill to say that he was smart.

h) Edgar nddma fila Bill n3 a tfig nd Mary m3 tfjelé

Edgar na-ama fila Bill n3 a tfi-g n3 Mary ma tfjel-é
Edgar pPrRN.3sg-P2 ask Bill that he say-HORT that Mary COP love-OM.PRN.3sg
Edgar ordered Bill to say that Mary loved him.

If infinitives in your language permit lexical subjects, either by exceptional Casemarking, as in
(DS5), or by a more general strategy (in English tied to the complementizer for) as in (D6), please
also provide examples of this type.
D5a) Edgar nga bugia nd nod néé tdw fwodg
Edgar nga bugta nana-o né-é tdw fwddg
Edgar PROG expect that PRN.3sg-FOC PRN.3sg-F1 stand ahead
Edgar expects that he is the one who will win.

b) Edgar nga bugila n3 Bill é tf6 na

Edgar nga bugila n3Bill é 46 nd
Edgar PROG expect that Bill F1 surpass PRN.3sg
Edgar expects Bill to defeat him.

D6a) Edgar m3 tfjél n3 nod tawug fwddg
Edgar ma tfjél nd na-o6 tdw-ug fwodg
Edgar COP like that PRN:3sg-FOC stand-HORT ahead
Edgar hopes for him to win.

b) Edgar m3 tfjél n3 Bill 6 tfonig na

Edgar m3 tfjél n3 Bill 6 6n-ig pd
Edgar COP like that Bill FOC surpass-HORT PRN.3sg
Edgar hopes for Bill to defeat him.

If the coreferent nominal can be a possessive, provide also examples like the following:
D7a) Edgar nga bugila na Bill é tf6n ntfuum jé
Edgar nga bugia nBill é 6 ptfuum j-¢
Edgar PROG expect that Bill F1 surpass C1-brother C1-POSS
Edgar expects Bill to defeat his brother.

b) Edgar ma tfjél n3 Bill fonig ntfuum jé

Edgar m3 tfjél n3 Bill #6n-ig ntfuium j-¢
Edgar COP like that Bill surpass-HORT C1-brother C1-POSS
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Edgar hopes for Bill to defeat his brother.

c) Edgar nga bugila n3 ptfium jénéeé tén na

Edgar nga bugia naptfuiim j-éna-é tf6 na
Edgar PROG expect that C1-brother C1-POSS PRN-3sg-F1 surpass him
Edgar expects his brother to defeat him.

d) done in b
Edgar hopes for Bill to defeat his brother.

If your language permits small clauses, such as English John considers Mary intelligent,
where intelligent is thus predicated of Mary, then try the following tests, where X = Tom.

D8a) Tom ma di bugild fig

Tom m3 di bugila fig
Tom COP HAB believe intelligence/knowledge
Tom considers himself intelligent.

b) Tom nga bugia nd Mary ma dzddg tfjelé

Tom nga bugila n3 Mary ma dzddg tfjel-é
Tom PROG believe that Mary COP ADV love-PRN.3sg
Tom considers Mary fond of him.

¢) Tom nga bugia ns Mary nga gwag mpimba na né

Tom nga bugila na Mary nga gwag mpimba na né
Tom PROG believe that Mary PROG hear anger with PRN.3sg
Tom considers Mary angry at him.

Note: If your language permits verb serialization, special issues may arise for some of the questions
we have been raising. If this is the case, please let us know that verb serialization is possible in
your language and alert us to any sorts of patterns that you think we might be interested in. We
will address these issues in follow up research.

4.2.3 Backwards anaphora

If your language permits sentential subjects like those in D9, please indicate if coreference
succeeds where X is a pronoun or anaphor coconstrued with Oliver. Your language may not have
a verb like implicate, but if so, try a verb that seems close, if possible. If your language does not
permit clauses to be subjects without head nouns, then try something like “the fact that X was
late upset Oliver.” English permits the independent pronouns strategy to be used for such cases,
but not all speakers like every example.

Comment: Makaa does not allow sentences beginning with ‘that X...” or ‘the fact that
x’. Thus sentences in D9 will be revised with respect to Makaa syntax. No other strategy different

from that used below can be used to translate the sentences in D9

D9a) Oliver nadma gwag mpimba na naméfwa na tfjé nadma wods mpisa wala
Oliver na-ama gwag mpimba na na-méfwo na tfjé na-dma woods mpisa wala
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Oliver PRN.3sg-P2 hear anger with PRN.3sg-REFL with why PRN.3sg-P2 arrive behind time
Oliver got upset because he was late.

b) Oliver nadma ba nd mabEéE na tfjé nadma woéds mpisa wala
Oliver n3-dma b3 nd mabEE na tjé n3-dma wéds mpisd wald
Oliver PRN.3sg-P2 COP with C6.guilt with why PRN.3sg-P2 arrive behind time
Oliver was guilty because he was late.

¢) Oliver nadma b3 nd mabé€ ndad nadma wods mpisd wald
Oliver na-dma b3 nd mabég ndad na-dma wéds mpisd walda
Oliver PRN.3sg-P2 COP with C6.guilt as PRN.3sg-P2 arrive behind time
Oliver was guilty as he was late.

d) Oliver naéma jajow mab&g ndad nadma wéds mpisd wald
Oliver n3-dma ja-jow mabéE ndad pa-éma wéds mpisa wald
Oliver PRN.3sg-P2 give-PASS C6.guilt as PRN.3sg-P2 arrive behind time
Oliver was said to be guilty [implicated] as he was late.

Section 4.3 Principle C-type effects
Comment: In Makaa either, it is neither possible to interpret he=Malik or he=the boy in (E1), nor
possible for the pronoun in (E2)

Ela) nadma dstim Malik
Nna-dma dzum Malik
PRN.3sg-P2 blame Malik
He Blamed Malik.
Comment: He is not Malik

b) nadma tfi nd Mariam pnadma dzuim Malik
Na-ama tfi nd Mariam npa-ama dzum Malik
PRN.3sg-P2 say that Mariam PRN.3sg-P2 blame Malik
He said Mariam blamed Malik.
Comment: He is not Malik
¢) nadma dzum dul ntfwamdad
Na-dma dzum dul ptfwamd
PRN.3sg-P2 blame DET Malik
He blamed a boy.
Comment: He is not the boy
d) nadma tfi nd Mariam nadma dzum dul ntfwdmd
Na-dma tfi nd Mariam na-dma dzum dul ptfwamd
PRN.3sg-P2 say that Mariam PRN.3sg-P2 blame DET Malik
He said Mariam blamed a boy.
Comment: He is not the boy

E2a) ndngu jé nadma dziim Malik
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Nnongu j-€ na-ama dzum Malik
C1-mother C1-POSS PRN.3sg-P2 blame Malik
His mother blamed Malik.
Comment: His is not Malik
b) ndéngu jé naéma tfi n3 Mariam nadma dzliim Malik
nongu j-€ na-ama tfi nd Mariam na-ama dzum Malik
Cl-mother C1-POSS PRN.3sg-P2 say that Mariam PRN.3sg-P2 blame Malik
His mother said Mariam blamed Malik.
Comment: His is not Malik
¢) ndéngu jé nadma dsum dul ptfwdmd
noéngu j-€ na-ama dzum dul ntfwamda
Cl-mother C1-POSS PRN.3sg-P2 blame DET boy
His mother blamed a boy.
Comment: His is not the boy
d) ndngu j€ nadma tfi nd Mariam pnadma dsum dul ntfwamda
nongu j-€ na-dma tfi nd Mariam na-ama dzum dul ntfwama
Cl-mother C1-POSS PRN.3sg-P2 say that Mariam PRN.3sg-P2 blame DET boy
His mother said Mariam blamed a boy.
Comment: His is not the boy.

4.4 More on long distance anaphor strategies
D10) John nga blgia n3 a s3 nd mabéé
John nga bugila nd & s3 nd mabéé
John PROG believe that he COP with guilt
John believes he is guilty.
Comment: No special long distance form.

4.4.2 Antecedent properties

4.4.2.2 Quantified antecedents - Review the examples in the Jack, Zeke and Edgar paradigms,
replacing these names with "every child" and "no child" or "many children".

Comment: There are no differences observed in D1 and D4 when Jack and Edgar are substituted
by ‘every child‘ and‘no child®.

Pronominal strategy and Pronoun-méfwo strategy
D11a) Mwdn jéf nadma tfi na a sa nki jaswa
mwadn j-€f na-ama tfi na a sa nki jaswa
Cl-child C1-QUANT SM-P2 say that he COP COP smart
Every child said that he is smart.

b) Mwan jé[nadma tfi nd naméfwao sa nki jaswa
mwan j-€f na-dma tfi nd na-méfwao sa nki jaswa
Cl-child C1-QUANT SM-P2 say that PRN.3sg-REFL COP COP smart
Every child said that he also is smart.
Comment: The use of the Pronoun-méfwo strategy in this section gives the reading ‘Pronoun
also’
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D12a) ntfyljag bwdn 6 mpu nd George m3 tfjél bwa
ntylia b-udn 6 mpu na George ma tfjel bwa
Many C2-child SM know that George COP like PRN.pl
Many children know that George likes them.

b) 7o mwén naa mpujé nd George ma tfjél na
td m-udn na-a mpu-jé nd George ma tfjel na
no child PRN.3sg-NEG know-NEG that George COP like PRN.3sg
No child knows that George likes him.
Comment: The Pronoun-méfwo strategy fails in D1b because the reflexive pronoun is
coconstrual with George and not with no child in D12b. D12a will be ungrammatical because
the reflexive pronoun that can only refer to George will be plural, refereeing thus to many
children.

D13a) Mwdn jéf ndama [ila Bill n3 a jagé bugd dsjé dsjéf
m-udn j-€[ na-dma [ila Bill nd a ja-g-£€ buga dzj-€ dzj-€f
cl-child c1-QUANT PrN.3sg ask Bill that he give-HORT-OM.PRN.3sg C7.trust C7.AM-POSS
C7.AM-QUANT
Every child asked Bill to trust him.

b) T mwan [igé [ila Bill n3 a jagé kdlad

td m-udn [i-gé€ [ila Bill n3 a ja-g-& kalad
no Cl-child EVID.PAST-NEG ask Bill that PRN.3sg give-HORT-OM.PRN.3sg book
No child asked Bill to give a book to him.

¢) tfuljag bwdn bwddma fila Bill n3 a Idsig na bwa

fulja b-udn bwa-dma [ila Bill n3 a Ids-tg na bwa
Many Cl1-child sm-p2 ask Bill that he talk-HORT with PRN.3pl
Many children asked Bill to talk to them.

Note: Try overt and null pronouns as the coreferent NP if your language has both.

4.4.2.3 Split antecedents - Sometimes coreference is permitted when the antecedents for the
anaphor or pronoun are separate arguments. Please provide examples that correspond to those in
the Ozzie (male) and Harriet (female) paradigm. In all cases, X = Ozzie and Harriet (together). For
example, in English, (D14d) would be "Ozzie told Harriet that Bill dislikes them," where them
would be Ozzie and Harriet.

D14a) Ozzie nadma tén [€ isd i digjd na Harriet ji

Ozzie na-ama tén [€ I-sd i dig-ja na Harriet ji
Ozzie PRN.3sg-P2 talk/narrate PRN.2pl.INCL C8-thing SM see-RCM/REFL with Harriet REL
Ozzie talked about Harriet to us (INCL.).
Comment: The translation in D14a is the only pronominal strategy that can be used in Makaa for
Ozzie to be coconstrual with the pronoun [¢ (we inclusive). Other strategies fail as they can
produce any acceptable grammatical construction in Makaa. However, with the Pronoun-méfwo
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strategy, sentence D14a is grammatical but the reflexive pronoun excludes Ozzie.
KS: I need to think about this one.

b) Ozzie nadma tén Harriet isd i digja na bwa ji
Ozzie na-ama tén Harriet 1-sG i dig-jd na bwa ji
Ozzie PRN.3sg-P2 talk/narrate Harriet c8-thing c8.SM see-RCM/REFL with PRN.3pl c8.REL
Ozzie talked about them to Harriet.

bi) Ozzie nadma tén Harriet isd i digjd na bwdmé(fwd) ji
Ozzie na-dma tén Harriet I-sd i dig-jd na bwa-mé(fwa) ji
Ozzie PRN.3sg-P2 talk/narrate Harriet c8-thing c8.SM see-RCM/REFL with PRN.3pl-REFL REL
Ozzie talked about themselves to Harriet.
¢) Ozzie nadma dzaw Harriet nd bwam d3ald na tij
Ozzie na-ama dzaw Harriet nd bwa-ma dzald na tij
Ozzie PRN.3sg-P2 tell Harriet that PRN.3pl-COP ought to leave
Ozzie told Harriet that they should leave.

ci) Ozzie nadma dzaw Harriet nd bwaméfwo bwam dzald na tij
Ozzie na-ama dzaw Harriet nd bwa-méfwoé bwa-m dzald na tij
Ozzie PRN.3sg-P2 tell/narrate Harriet that PRN.3pl-REFL PRN.3pl-PST ought to leave
Ozzie told Harriet that they also should leave.
Comment: The use of the Pronoun-méfwo strategy in D14ci gives the reading ‘Pronoun also’

d) Ozzie nadma dzaw Harriet na Bill m3 fim bwa
Ozzie na-ama dzaw Harriet na Bill m3 fim bwa
Ozzie PRN.3sg-P2 tell/narrate Harriet That Bill PST PRN.3pl
Ozzie told Harriet that Bill dislikes them.
Comment: The use of the Pronoun-méfwo strategy in D14d fails because it produces
unacceptable sentences whereby the plural reflexive pronoun bwaméfwa is neither coconstrual
with Ozzie and Harriet nor with Bill. See also D14e.

e) Ozzie nadma i n3 Harriet nga bugia na Bill m3 fim bwa
Ozzie na-ama tfi na Harriet nga bugta na Bill ma fim bwa
Ozzie PRN.3sg-P2 tell/narrate that Harriet PROG think that Bill PST hate PRN.3pl
Ozzie said that Harriet thinks that Bill dislikes them.
Comment: The use of the Pronoun-méfwo strategy in D 14e fails because it produces
unacceptable sentences whereby the plural reflexive pronoun bwdméfwo is neither coconstrual
with Ozzie and Harriet nor with Bill. See also D14d.

4.4.2.4 Discourse antecedents -
D15) Mark nad funda nd mwan jé tfugé n3 [jee.
Mark na-a funda na m-udn j-€ tfugé na [jee.
Mark PRN.3sg-P3 fear that c1-child c1-POSS NEG PREP peace
Mark feared that his son was not safe.
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nad gwag fwoon ndad nadd figé kwag keemila maad a ndgdéw budd jé

Na-d gwag fwoon ndaa na-a fi-gé kwag keem-HI3 m-uad a ndzow b-uud j-€

He-P3 hear shame as he-P3 EVID.PAST-NEG able protect-INF c1-peron ASS c3.house c2-person
He was ashamed that he could not protect his closest relative.

Ontfuum bé bwéé tadiga n3 a sa néjé kjagii muid?

o-tfuum b-€ bwa-é tadiga na a sa npéjé kjagii m-uud

c2-brother c2-POSS SM-F1 think that PRN.3sg COP which type cl-person
What would his cousins think of him?

D16) Mark nadma gwag 3 Idm digils jog dzé kaladif
Mark na-dma gwag tfaj Idm dig-HI3s jog d3-¢ kdlad-if
Mark PRN.3sg-P2 hear pain heart see-INF c¢7.picture ¢7-POSS paper-LOC
Mark was shocked to see his picture in the paper.

16i) Wabimampdonz bé béf bwéé mjaas na
w-abimampdonz b-£€ b-€f bwa-é mjaas npa
c2-supporter c2-POSS c2-QUANT PRN.3pl-F1 abandon PRN.3sg
All of his supporters would abandon him.

16ii) A mplg n3 néé dzaw néongu ntidelé?
a mpU-g nd na-é dzaw noonga ntidelé?
PRN.3sg know-HORT that PRN.3sg-F1 tell mother how
How would he tell his mother?

Scenario: The following scenario concerns what Morris is reporting to us about Mark, where all
of the English pronouns are understood as referring to Mark, not to Morris. Please translate using
any (or every) strategy for coreference with Mark that works (including the independent pronoun
strategy). Then please tell us which strategies do not work, providing a translation and gloss, if it
is significantly different from your acceptable translations of (D17). If your language permits null
subjects understood as pronouns, don’t forget to consider that strategy. Enter this scenario under
the commentary for (D17)

D17) Morris nadma tfi nd muuds jama ba nki dzdg kwawla ful Mark
Morris na-ama tfi nd muus i-ama ba nki dzag kwawla ful Mark
Morris PRN.3sg-P2 say that today SM-P2 COP COP very difficult for Mark
Morris said it was a difficult day for Mark.

F33g, Morris nadma dzawé nd matwd jé ma dzuwajow

f33g, Morris na-adma dzaw-€ nd matwa j-¢€ ma dzuwa-jow

first, Morris PRN.3sg-P2 tell-OM.PRN.3sg that cl.car c1-POSS COP steal-PASS
First, Morris told him that his car had been stolen.

dz3la n3 & mu z3 nwd opap k313 iféjif

d33la.n3 @ mu 23 nwd opap ka-HI3 i-féj-if

then PRN.3sg COP come take taxi go-INF c8-work-LOC
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Then he had to hire a taxi to take him to work.

Morris pad tadiga nd naa dzje gwag mpimba

Morris na-d tadiga na na-a dzje gwag mpimba

Morris PRN.3sg-P3 think that PRN.3sg-P3 might hear anger
Morris thought he might be angry.

Scenario Now suppose that Mark has recently been in the news and he is the topic of our
conversation. Speakers A and B use pronouns to refer to him. Please translate using the strategy
or strategies in your language that permit coreference with Mark. Once again, please tell us
which strategies do not work, providing a translation and gloss, if it is significantly different
from your acceptable translations of (D18). Please enter this under the commentary for D18 and
D18a. The sentences should refer to each other as related.

D18) A: Digja Mark wa!
dig-i-a Mark wa

see-HORT-PI Mark here
Look, there's Mark!

B: A d3dg b3 dzdn

a d3dg ba dzdn
he very/so COP handsome
He is so handsome.

D18i) A: Vadd ma tfuge na nkul bwalé magils balo muda jé. Buda béf o nga fuds padi mpisa

Vada ma tfuge na nkul bwalé magils ba-HI> m-uda j-¢. B-udad b-éf 6 nga fuda pa-di mpisa

though I COP.NEG with power never accept be-INF Cl-wife C1-POSS. C2-woman C2-QUANT
c2 SM PROG die PRN.3sg-LOC behind

I would not want to be his wife though. All the women are chasing him.

Pronoun-mé(fwd) strategy
D18ii) B: Z3 bad na n3 a dzdg tfjél namé(fwa)
Z3 bad na n3 a dzdg tfjel na-mé(fwa)
come add with that he too.much like PRN.3sg-REFL
Also, I think he praises himself too much.

Body strategy
D18iiiBi: Z3 bad na na a dzdg tfjel dia nkén nal
Z3 bad na na a dzdg tfjél di-HIa nkén nal

come add with that he too.much like HAB-INF carry body

Also, I think he praises himself too much.
KS: I am wondering if the difference between (D18B) and (D18Bi) supports the view that the
use of Body.REFL is a reflexive reading related to inalienable possession in some sense, whereas
PRN-REFL is not specific to such readings. What do you think? NI: It is possible...
Comment: D17 and D18 cannot be translated differently in Makaa as the translation will produce
unacceptable sentences.

4.4.4 Islands
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Do syntactic islands affect the acceptability of the current strategy? For all the examples
in this section, Ira = X.

D22a) Ira nga mpu nd Mary ma fimé
Ira nga mpu nd Mary ma fim-&
Ira PROG know that Mary COP hate-OM.PRN.3sg
Ira knows that Mary hates him.

D22ai) Ira nga mpt nd Mary ma fim na

Ira nga mpt nd Mary ma fim na
Ira PROG know that Mary COP hate PRN.3sg
Ira resents the fact that Mary hates him.

b) Ira nga gumal maud m3 tfjélé ji

Ira nga gumal muad ma tfjel-€ ji
Ira PROG respect man COP like-OM.PRN.3sg REL
Ira respects the man who likes him.

bi) Ira nga gumal maad ma tfjél na ji

Ira nga gumal maud ma tfjél na ji
Ira PROG respect man COP like PRN.3sg REL
Ira respects the man who likes him.

¢) Ira nga tfi n3 muud ma tfjélé ji sa na fig

Ira nga tfi nd muud ma tfjel-€ ji sa na fig
Ira PROG say that man COP like-OM.PRN.3sg REL COP with intelligence
Ira says that the man who likes him is intelligent.

ci) Ira nga tfi nd mutd m3 tfjélé ji sa na fig

Ira nga tfi na maad ma tfjél-£ ji sa na fig
Ira PROG say that man COP like-OM.PRN.3sg REL COP with intelligence
Ira says that the man who likes him is intelligent.

d) Ira nadma fila ngt Bill nadma digé
Ira na-ama [ila ngi Bill na-ama dig-é
Ira PRN.3sg-P2 ask whether Bill PRN.3sg-P2 see-OM.PRN.3sg
Ira asked whether Bill saw him.

di) Ira nadma [ila ngi Bill nadma dig na
Ira na-ama [ila ng# Bill na-ama dig na
Ira PRN.3sg-P2 ask whether Bill PRN.3sg-P2 see PRN.3sg
Ira asked whether Bill saw him.

e) Ira pnadma [ila wala Bill nadma dig digé ji
Ira na-ama [ila wala Bill na-dma dig-£ ji
Ira PRN.3sg-P2 ask when/time Bill PRN.3sg-P2 see-OM.PRN.3sg REL
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Ira asked when Bill saw him.

ei) Ira nadma [ila wala Bill nadma dig digé ji
Ira na-ama [ila wala Bill na-dma dig-£ ji
Ira PRN.3sg-P2 ask when/time Bill PRN.3sg-P2 see-OM.PRN.3sg REL
Ira asked when Bill saw him.

f) Irg figeé mpi nd George naéma béé

Ird fi-g& mpi nd George n3-dma bé-é
Ira EVID.PAST-NEG know that George PRN.3sg-P2 follow-OM.PRN.3sg
Ira did not realize that George followed him.

fi) Ira figé mpl nd George nadma bé nad

Ira fi-g& mpu nd George na-dma bé pa
Ira EVID.PAST-NEG know that George PRN.3sg-P2 follow PRN.3sg
Ira did not realize that George followed him.

g) Ira pnadma tfi n3 Mary sa d3on nt33 néé bd na
Ira na-ama tfi nd Mary sa d3on nti3 na-é ba na
Ira PRN.3sg-P2 say that Mary COP pretty thus he-F1 marry her
Ira said that Mary was pretty and that he would marry her.
Comment: The € pronominal strategy does not work with D22g because it produces an
unacceptable construction. More, she and X has to permute in D22g as in the Makaa culture it is
the man that marry the woman and not the contrary.

4.4.5 De se reading
Makaa has no special morphology that marks logophoric readings.

D23a) Oedipus nga bugia nd noongu sa nki nwa
Oedipus nga bugta nd noongu sa nki nwa
Oedipus PROG think that mother. REFL COP COP nice/good
Oedipus thinks his mother is nice.

D23ai) Oedipus nga bugta nd noongu jé sa nki nwa
Oedipus nga bugta nd noongu j-€ sa nki pwa
Oedipus PROG think that c1.mother c1-POSS COP COP nice/good
Oedipus thinks his mother is nice.

b) Oedipus nga tfi n3 n0dngu sa nki béw

Oedipus nga bugta nd noongu sa nki baw
Oedipus PROG think that mother.REFL COP COP bad/mean
Oedipus says his mother is mean.

bi) Oedipus nga tfi nd noongu jé sa nki baw
Oedipus nga bugtla nd noongu j-€ sa nki baw
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Oedipus PROG think that cl.mother c1-POSS COP COP bad/mean
Oedipus says his mother is mean.
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